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: 

: 

(i) 39 

(ii)  

(iii) 1 20 1 

(iv) 21 26 2 
30 50 

(v) 27 33 3 
50 80 

(vi) 34 36 5 
80 120 

(vii) 37 39 3 

(viii) 

IÊS> H$ 

20 1 20  20 1=20 

1. {ZåZ{b{IV _| go J§Yr` gyMH$m| H$m ẁ½_ (O :    

(a) bm¢J H$m Vob Am¡a d¡{Zbm gwJ§Y  (b) ß`mµO Am¡a hëXr  

(c) bm¢J H$m Vob Am¡a {bQ>_g {db`Z  (d) d¡{Zbm Am¡a _o{Wb Am°aoÝO 

2. {~Zm ~wPo MyZo Am¡a nmZr Ho$ ~rM A{^{H«$`m H$m g§Vw{bV amgm`{ZH$ g_rH$aU H$m¡Z-gm h¡ ?   

(a) 2 CaO + H2O  2 CaOH + H2 + D$î_m  

(b) CaO + H2O  Ca(OH)2 + H2 + D$î_m 

(c) CaO + H2O  Ca(OH)2 + D$î_m 

(d) 2 CaO + 3 H2O  2 Ca(OH)3 + O2 + D$î_m 
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General Instructions : 
Read the following instructions very carefully and strictly follow them : 
(i) This question paper comprises 39 questions. All questions are compulsory. 
(ii) This question paper is divided into five sections  A, B, C, D and E. 
(iii) Section A  Questions No. 1 to 20 are multiple choice questions. Each question 

carries 1 mark.  
(iv) Section B  Questions No. 21 to 26 are very short answer type questions. Each 

question carries 2 marks. Answer to these questions should be in the range of 
30 to 50 words.  

(v) Section C  Questions No. 27 to 33 are short answer type questions. Each 
question carries 3 marks. Answer to these questions should in the range of  
50 to 80 words.  

(vi) Section D  Questions No. 34 to 36 are long answer type questions. Each 
question carries 5 marks. Answer to these questions should be in the range of 
80 to 120 words.  

(vii) Section E  Questions No. 37 to 39 are of 3 source-based/case-based units of 
assessment carrying 4 marks each with sub-parts. 

(viii) There is no overall choice. However, an internal choice has been provided in 
some sections. Only one of the alternatives has to be attempted in such 
questions. 

SECTION A 

This section has 20 multiple choice questions (Q.No. 1 20). All questions are 
compulsory.  20 1=20 

1. Select a pair of olfactory indicators from the following : 

(a) Clove oil and vanilla essence  (b) Onion and turmeric 

(c) Clove oil and litmus solution (d) Vanilla and methyl orange 

2. The balanced chemical equation showing reaction between quicklime and 
water is : 

(a) 2 CaO + H2O  2 CaOH + H2 + Heat   

(b) CaO + H2O  Ca(OH)2 + H2 + Heat 

(c) CaO + H2O  Ca(OH)2 + Heat 

(d) 2 CaO + 3 H2O  2 Ca(OH)3 + O2 + Heat 
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3. {ZåZ{b{IV amgm`{ZH$ A{^{H«$`m H$m AÜ``Z H$s{OE :  

  2 Na (s) + 2 H2O (l)  2 NaOH (aq) + H2 (g)  

 Bg A{^{H«$`m _| AnMm`H$ h¡ :   

(a) Na   (b) H2O 

(c) NaOH  (d) H2  

4. VmµOo XÿY H$m pH  6 hmoVm h¡ & BgHo$ O_Zo _| Xoar H$aZo Ho$ {bE Bg_| H$m¡Z-gm amgm`{ZH$ 
nXmW© {_bm`m OmVm h¡ ?    

(a) gmo{S>`_ H$m~m}ZoQ>  
(b) ~oqH$J nmCS>a  
(c) > (H$m°pñQ>H$ gmoS>m)  
(d) ~oqH$J gmoS>m (gmo{S>̀ _ hmBS>́moOZ H$m~m}ZoQ>)  

5. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ghr h¡ ?  

(a) `h Ho$db Aåb go A{^{H«$`m H$aVm h¡ Am¡a nmZr Zht ~ZmVm h¡ &  
(b) `h Aåb Am¡a jmaH$ XmoZm| go A{^{H«$`m H$aHo$ bdU Am¡a hmBS´>moOZ J¡g ~ZmVm h¡ &   
(c) `h Aåb Am¡a jmaH$ XmoZm| go A{^{H«$`m H$aHo$ bdU Am¡a nmZr ~ZmVm h¡ & 
(d) `h Ho$db jmaH$ go A{^{H«$`m H$aVm h¡ Am¡a nmZr Zht ~ZmVm h¡ & 

6. {ZåZ{b{IV _| go {H$gHo$ ~rM A{^{H«$`m hmoZo na hmBS>́mo{Z`_ Am`Z ~ZVo h¢ ?   

(a) gmo{S>`_ hm  (b)  

(c)  (d) EWoZm°b Am¡a nmZr 

7.  AUw _| ghg§̀ moOH$ Am~ÝYZ H$m ghr {Zê$nU {H$g {dH$ën _| Xem©̀ m J`m h¡ ?   
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3. Study the following chemical reaction : 

  2 Na (s) + 2 H2O (l)  2 NaOH (aq) + H2 (g)  

 The reducing agent in this reaction is :  
(a) Na   (b) H2O 

(c) NaOH  (d) H2 

4. Fresh milk has a pH of 6. To delay its curdling, a chemical substance is 
added to it, which is : 

(a) Sodium carbonate  

(b) Baking powder 

(c) Sodium hydroxide (Caustic soda) 

(d) Baking soda (Sodium hydrogen carbonate) 

5. Which of the following statements is true for an amphoteric oxide ? 

(a) It reacts only with acid and does not form water.  

(b) It reacts with acid as well as base to form salt and hydrogen gas. 

(c) It reacts with both acid as well as base to form salt and water. 

(d) It reacts only with base and does not form water. 

6. Hydronium ions are formed by the reaction between : 

(a) Sodium hydroxide and water  (b) Calcium chloride and water 

(c) Hydrogen chloride gas and water (d) Ethanol and water 

7. The correct representation of covalent bonding in an oxygen molecule is : 
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8. {H$gr nmXn Ho$ dm`d ^mJm| (aerial parts) go Obdmîn Ho$ ê$n _| Ob H$s hm{Z hmoZo H$s 
à{H«$`m H$mo X H$hVo h¢ Am¡a `h Y _| ghm`Vm H$aVr h¡ & `hm± X Am¡a Y H«$_e: h¢ :  

(a) dmînmoËgO©Z Am¡a àH$me-g§íbofU & 

(b) dmînmoËgO©Z Am¡a Vmn {Z`_Z ({Z §̀ÌU) & 

(c) ñWmZmÝVaU Am¡a àH$me-g§íbofU Ho$ {dbò  CËnmXm| H$s âbmoE_ _| J{V & 

(d) & 

9. ñWbr` Ordm| H$s VwbZm _| Obr` Ordm| H$s ídmg boZo H$s Xa :  

(a) CÝh|  

(b) \$s H$_ hmoVr h¡ &  

(c) \$s H$_ hmoVr h¡ & 

(d) H$s dm`w_§S>br` dm ẁ H$mo KmobZo H$s j_Vm H$_ h¡ &  

10. {ZåZ{b{IV Xmo H$WZm| na {dMma H$s{OE :  

(i) dh bjU Omo ñd §̀ hr F1  

(ii)  

BZ H$WZm| (i) Am¡a (ii) Ho$ {bE Cn ẁº$ nX H«$_e: h¢ :  

(a) Aà^mdr bjU, à^mdr bjU  

(b) à^mdr bjU, Aà^mdr bjU  

(c) à^mdr bjU, AmZwd§{eH$ bjU  

(d) Aà^mdr bjU, AmZwd§{eH$ bjU 

11. h_mao eara H$m dh A§J {Og_| agg§doXr J«m{h`m± CnpñWV hmoVr h¢, H$m¡Z-gm h¡ ?  

(a) AmÝV[aH$ H$U©  (b) ËdMm  

(c)    (d) ZmH$ H$m AmÝV[aH$ AmñVa  

12. Agwa{jV `m¡Z {H«$`m Ho$ H$maU hmo gH$Zo dmbo OrdmUw O{ZV Am¡a dmBag g§H«${_V amoJ 
H«$_e: h¢ :   

(a) _ñgm VWm HIV-AIDS  (b) HIV-AIDS VWm _ñgm 

(c) JmoZmo[a`m VWm {g\${bg  (d) {g\${bg VWm _ñgm  
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8. The process in which loss of water in the form of vapours from the aerial 
parts of plants takes place is X, which helps in Y. Here X  and Y 
respectively are : 
(a) transpiration and photosynthesis. 
(b) transpiration and temperature regulation. 
(c) translocation and movement of soluble products of photosynthesis 

in phloem. 
(d) translocation and absorption of water and minerals from soil by 

roots. 

9. As compared to terrestrial organisms, the rate of breathing in aquatic 
organisms is :  
(a) faster because they need more oxygen for their survival. 
(b) faster because the amount of dissolved oxygen in water is fairly 

low. 
(c) slower because the amount of dissolved oxygen in water is fairly 

low. 
(d) slower because the capacity of water of dissolving atmospheric air 

is limited. 

10. Consider the following two statements : 
(i) The trait that expresses itself in F1 generation.   
(ii) The trait that keeps on passing from one generation to another. 
The appropriate terms for the statements (i) and (ii) respectively are : 
(a) Recessive trait, Dominant trait 
(b) Dominant trait, Recessive trait 
(c) Dominant trait, Inherited trait 
(d) Recessive trait, Inherited trait 

11. The part in which gustatory receptors are present in our body is : 
(a) inner ear (b) skin 
(c) tongue (d) inner lining of nose 

12. The bacterial and the viral infections that may be caused due to unsafe 
sex respectively are : 
(a) Warts and HIV-AIDS (b) HIV-AIDS and Warts 
(c) Gonorrhoea and Syphilis (d) Syphilis and Warts 
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13. (i) Q, I Am¡a t VWm (ii) Q, V Am¡a W Ho$ ~rM g§~§Ym| Ho$ {bE H«$_e: ì §̀OH$ h¢ (`hm± na 
àVrH$m| Ho$ gm_mÝ` AW© h¢) :  

(a) (i) I = 
t
Q

 (ii) W = 
Q
V   

(b) (i) Q = I  t  (ii) W = V  Q 

(c) (i) Q = 
t
I

        (ii) V = 
Q
W  

(d) (i) I = 
t
Q

            (ii) Q = 
W
V

 

14. AmaoI _| Xem©E AZwgma H$mJµO Ho$ Vb _| {H$gr j¡{VO Vma go nyd© go npíM_ H$s Amoa {Z`V 
Ymam àdm{hV hmo ahr h¡ & {H$g {~ÝXþ na Mwå~H$s` joÌ H$s {Xem CÎma go X{jU H$s Amoa 
hmoJr ?  

 

(a) Vma Ho$ R>rH$ D$na  

(b) Vma Ho$ R>rH$ ZrMo  

(c) H$mJµO Ho$ Vb _| Vma Ho$ CÎma H$s Amoa  

(d) H$mJµO Ho$ Vb _| Vma Ho$ X{jU H$s Amoa 

15. H$moB© {dÚwV Ho$Vbr 220 V na àMm{bV {H$E OmZo na 1 kW {dÚwV e{º$ Cn ŵº$ H$aVr h¡ & 

BgHo$ {bE â ỳµO Vm ? 

(a) 1 A 

(b) 2 A 

(c) 4 A 

(d) 5 A 
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13. The expressions that relate (i) Q, I and t and (ii) Q, V and W respectively 
are (Here the symbols have their usual meanings) : 

(a) (i) I = 
t
Q

 (ii) W = 
Q
V   

(b) (i) Q = I  t  (ii) W = V  Q 

(c) (i) Q = 
t
I

        (ii) V = 
Q
W

 

(d) (i) I = 
t
Q

            (ii) Q = 
W
V

 

14. A constant current flows in a horizontal wire in the plane of the paper 
from east to west as shown in the figure. The direction of the magnetic 
field will be north to south at a point :  

 

(a) directly above the wire. 

(b) directly below the wire. 

(c) located in the plane of the paper on the north side of the wire. 

(d) located in the plane of the paper on the south side of the wire. 

15. An electric kettle consumes 1 kW of electric power when operated at  
220 V. The minimum rating of the fuse wire to be used for it is  

(a) 1 A 

(b) 2 A 

(c) 4 A 

(d) 5 A 
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16. {H$gr b§~r grYr n[aZm{bH$m _| {dÚwV Ymam àdm{hV H$amH$a BgHo$ XmoZm| {gam| na N Am¡a S 
Y«wd CËnÞ {H$E JE h¢ & {ZåZ{b{IV _| go H$m¡Z-gm H$WZ  h¡ ?  

(a) n[aZm{bH$m Ho$ ^rVa Mwå~H$s` joÌ aoImE± gab aoImAm| Ho$ ê$n _| h¢ Omo `h B§{JV 
H$aVm h¡ {H$ n[aZm{bH$m Ho$ ^rVa g^r {~ÝXþAm| na Mwå~H$s` joÌ EH$g_mZ h¡ &  

(b) n[aZm{bH$m Ho$ ^rVa CËnÞ à~b Mwå~H$s` joÌ n[aZm{bH$m Ho$ ^rVa aIo Z_© bmoho 
H$mo Mwå~{H$V H$a gH$Vm h¡ & 

(c) 
n¡Q>Z© go {^Þ hmoVm h¡ &  

(d) n[aZm{bH$m go àdm{hV Ymam H$mo CËH«${_V H$aZo na N Am¡a S Y«wdm| H$s pñW{V`m± 
AXbm-~Xbr hmo OmVr h¢ &  

17 20  (A) 
(R) 

(a), (b), (c) (d) 

(a) A{^H$WZ (A) Am¡a H$maU (R) XmoZm| ghr h¢ Am¡a H$maU (R), A{^H$WZ (A) H$s 
ghr ì¶m»¶m H$aVm h¡ & 

(b) A{^H$WZ (A) Am¡a H$maU (R) XmoZm| ghr h¢, naÝVw H$maU (R), A{^H$WZ (A) H$s 
ghr ì¶m»¶m  H$aVm h¡ & 

(c) A{^H$WZ (A) ghr h¡, naÝVw H$maU (R) µJbV h¡ & 
(d) A{^H$WZ (A) µJbV h¡, naÝVw H$maU (R) ghr h¡ & 

17. (A) : {ZåZ{b{IV amgm`{ZH$ A{^{H«$`m  

    ZnO + C  Zn + CO  
  _| ZnO H$m AnM`Z hmoVm h¡ &     

(R) : H$m~©Z AnMm`H$ h¡ Omo ZnO H$mo Zn _| AnM{`V H$a XoVm h¡ &  

18. (A) : _mZd ì`{îQ>`m± bjUm| _| AË`{YH$ {d{^ÞVmE± Xem©Vr h¢ &     
(R) : {H$gr ñnrerµO _| g^r {d{^ÞVmAm| Ho$ {bE {Og n`m©daU _| dh ahVr h¢ 

Cgr _| CZH$s CÎmaOr{dVm Ho$ g_mZ Adga hmoVo h¢ &  

19. (A) : A{bÝX H$s {^{Îm`m± {Zb` H$s {^{Îm`m| H$s Anojm _moQ>r hmoVr h¢ &   
(R) : {Zb` H$mo é  Xm~ na {d{^Þ A§Jm| _| nhþ±MmZm hmoVm h¡ &  

20. (A) : {H$gr Ymamdmhr grYo Vma Ho$ Mmam| Amoa H$s Xmo Mwå~H$s` joÌ aoImE±  
EH$-Xÿgao H$m à{VÀN>oXZ Zht H$aVr h¢ &     

(R) : Vma _| àdm{hV Ymam Ho$ n[a_mU _| d¥{Õ H$aZo na {H$gr {~ÝXþ na CËnÞ 
Mwå~H$s` joÌ Ho$ n[a_mU _| d¥{Õ hmo OmVr h¡ &  



 

31/5/1 H 11 H P.T.O. 

16. For a current in a long straight solenoid, N and S poles are created at the 
two ends. Among the following statements, the incorrect statement is : 
(a) The magnetic field lines inside the solenoid are in the form of 

straight lines, which indicates that the magnetic field is uniform at 
all points inside the solenoid.  

(b) The strong magnetic field produced inside the solenoid can 
magnetize the soft iron placed inside it. 

(c) The pattern of the magnetic field associated with a current 
carrying solenoid is different from the pattern of the magnetic field 
around a bar magnet. 

(d) The N and S poles exchange positions when the direction of 
current through the solenoid is reversed. 

For questions number 17 to 20, two statements are given  one labelled 
as Assertion (A) and the other labelled as Reason (R). Select the correct 
answer to these questions from the codes (a), (b), (c) and (d) as given 
below :  

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the 
correct explanation of the Assertion (A).  

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not 
the correct explanation of the Assertion (A).  

(c) Assertion (A) is true, but Reason (R) is false.  
(d) Assertion (A) is false, but Reason (R) is true.  

17. Assertion (A) : In the following reaction  

    ZnO + C  Zn + CO  
  ZnO undergoes reduction.  

Reason (R) : Carbon is a reducing agent that reduces ZnO to Zn. 

18. Assertion (A) : Human populations show a great deal of variations in 
traits.  

Reason (R) : All variations in a species have equal chances of surviving 
in the environment in which they live.  

19. Assertion (A) : The walls of atria are thicker than those of the ventricles. 
Reason (R): Ventricles have to pump blood into various organs at high 

pressure. 

20. Assertion (A): Two magnetic field lines around a current carrying 
straight wire do not intersect each other. 

Reason (R): The magnitude of the magnetic field produced at a given 
point increases as the current through the wire increases. 
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IÊS> I 

21. (H$) X  H$mo 373 K na J_© H$aZo na dh Ob AUwAm| H$mo ImoH$a Y  _| n[ad{V©V hmo 
OmVm h¡ & Y  
pñWa aIZo Ho$ {bE H$aVo h¢ &    

  (i) X  Am¡a Y  H$mo nhMm{ZE &  

(ii) X  H$mo Y  go {H$g àH$ma nwZ: àmßV {H$`m Om gH$Vm h¡ ?  2 

 AWdm  

(I) Xmo {db`Z M Am¡a N gmd©{ÌH$ gyMH$ Ho$ gmW H«$_e: bmb Am¡a Zrbm a§J XoVo h¢ &   

  (i) BZ_| go {H$g {db`Z _| hmBS´>moOZ Am`Zm| H$s gm§ÐVm A{YH$ h¡ ? AnZo 
CÎma H$s nw{îQ> H$s{OE &   

(ii) `{X XmoZm| {db`Zm| M Am¡a N H$mo {_bm {X`m OmE Am¡a n[aUm_r {_lU H$m 
gmd©{ÌH$ gyMH$ Ûmam narjU {H$`m OmE, Vmo dh ham hmo OmVm h¡ & ~ZZo dmbo 
bdU H$s àH¥${V ? AnZo CÎma H$s nw{îQ> H$s{OE &  2 

22. ZrMo {XE JE AmaoI _| V§{ÌH$m H$mo{eH$m (Ý`yam°Z) Ho$ ^mJ (i) Am¡a (ii) Ho$ Zm_ d CZH$m 
H$m`© {b{IE &   2 

 

 

23. (H$) àH$me-g§íbofU H$s à{H«$`m Ho$ g_` hmoZo dmbr KQ>ZmAm| H$s C{MV H«$_ _| gyMr 
~ZmBE &   2 

 AWdm 
(I) {H$gr nmXn H$s n{Îm`m| Ûmam CËgO©Z Ho$ {bE AnZmB© OmZo dmbr Xmo {d{Y`m| H$s 

g§jon _| ì`m»`m H$s{OE &   2 

(i) 

(ii) 
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SECTION B 

21. (a)  

in the right position.   

 (i) Identify X  and Y    

 (ii) How can X  be reobtained from Y  ? 2 

   OR 

(b) Two solutions M and N give Red and Blue colour respectively with a 

universal indicator.  
 (i) In which solution will the hydrogen ion concentration be  

more ? Justify your answer.   
 (ii) If both M and N solutions are mixed and the resultant mixture 

is tested with a universal indicator, it turns green. What is the 
nature of the salt formed ? Justify your answer. 2 

22. Write the name and function of parts (i) and (ii) in the diagram of a 
neuron given below.     2 

 

 
23. (a) List the events in proper sequence that take place during the 

process of photosynthesis.   2 

   OR 

 (b) Explain in brief two ways by which leaves of a plant help in 
excretion.  2  

(i) 

(ii) 
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24. _mZdm| _| ^moOZ Ho$ nmMZ H$s à{H«$`m _| àmoQ>rZm| H$mo nmMZ H$aZo dmb o Xmo E§µOmB_ òm{dV hmoVo 
h¢ & BZ E§µOmB_m| H$m Zm_ Am¡a BZH$mo òm{dV H$aZo dmbr J«§{W`m| Ho$ Zm_ {b{IE &    2 

25. {H$gr ZoÌ _| à{V{~å~ ~ZZm Xem©Zo dmbo {ZåZ{b{IV AmaoI H$m àojU H$s{OE :     

  

(H$) Bg AmaoI _| Xem©E JE Ñ{îQ> Xmof H$mo nhMm{ZE &    

(I) Bg Xmof Ho$ Xmo H$maUm| H$s gyMr ~ZmBE VWm Xmof Ho$ g§emoYZ Ho$ {bE Cn ẁº$ b|g 
gwPmBE & 2 

26. {ZåZ{b{IV Amhma ûm¥§Ibm _|, `{X ~mµO H$mo 50 J D$Om© CnbãY Wr, Vmo àW_ Am¡a V¥Vr` 

nmofr ñVam| _| {H$VZr D$Om© CnpñWV ahr hmoJr ? AnZo CÎma H$s nw{îQ> H$s{OE & 2 

  Kmg  {Q>È>o  _|T>H$  gm±n  ~mµO 

IÊS> J 

27. (H$) {Û{dñWmnZ A{^{H«$`m H$s n[a^mfm Xr{OE &  

(I) {H$gr Eogr {Û{dñWmnZ A{^{H«$`m H$m amgm`{ZH$ g_rH$aU {b{IE Omo  

(i) CXmgrZrH$aU A{^{H«$`m Am¡a (ii) AdjonU A{^{H«$`m ^r hmo & AnZo CÎma H$s 

nw{îQ> Xr{OE &  3 

28. (H$) H$^r-H$^r _w±h Ho$ pH H$m _mZ 5·5 ?   

(I) ~oqH$J gmoS>m H$mo J_© H$aZo Ho$ níMmV² CgH$m {H«$ñQ>brH$aU H$aZo na jmar` bdU 

 àmßV hmoVm h¡ &  H$mo nhMm{ZE A

H$s{OE &   

(J) H$m°na gë\o$Q ?   3 
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24. In the process of digestion of food in human beings, two protein-digesting 
enzymes are secreted. Name the enzymes along with the glands that 
secrete them.     2 

25. Observe the following diagram showing an image formation in an eye :  

  

(a) Identify the defect of vision shown in the figure. 

(b) List its two causes and suggest a suitable corrective lens to 
overcome this defect. 2 

26. In the following food chain, if 50 J of energy was available to the hawk, 
how much energy would have been present at the first and third tropic 
levels ? Justify your answer.    2 

  Grass  Grasshopper  Frog  Snake  Hawk 

SECTION C 

27. (a) Define a double displacement reaction.   

(b) Write the chemical equation of a double displacement reaction 
which is also a (i) Neutralization reaction and (ii) Precipitation 
reaction. Give justification for your answer. 3 

28. (a) Sometimes the pH of our mouth gets lower than 5·5. Why ?   

(b) 
 

(c) Why do copper sulphate crystals turn white on heating ?   3  
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29. (H$) {H$gr {H«$`mH$bmn H$s ghm`Vm go {Og ^moOZ H$mo h_ ImVo h¢ Cg na bmbmag 

(bma) H$s {H«$`m H$s ì`m»`m H$s{OE &   

(I) ?   3  

30. (H$) (i) 5 cm D±$Mm H$moB© {~å~ 18 cm \$moH$g Xÿar Ho$ {H$gr AdVb b|g Ho$ 

àH$m{eH$ Ho$ÝÐ go 20 cm H$s Xÿar na aIm h¡ & Bg àH$aU _| (1) à{V{~å~ 

H$s Xÿar Am¡a (2) AmdY©Z H$m n[aH$bZ H$s{OE &    

(ii) AdVb b|g Am¡a CÎmb b|g Ho$ AmdY©Zm| Ho$ _mZm| H$s VwbZm H$s{OE O~ 

XmoZm| b|gm| Ûmam ~ZmE OmZo dmbo à{V{~å~ Am^mgr h¢ &     3  

 AWdm  

(I) H$moB© CÎmb b|g {H$gr {~å~ H$m (i) dmñV{dH$, CëQ>m Am¡a {dd{Y©V à{V{~å~ ~ZmZo 

Ho$ gmW-gmW (ii) CgH$m Am^mgr, grYm Am¡a {dd{Y©V à{V{~å~ ^r ~Zm gH$Vm h¡ & 

`{X Bg b|g H$s \$moH$g Xÿar 10 cm h¡, Vmo XmoZm| àH$aUm| Ho$ {bE {~å~ Xÿ[a`m| Ho$ 

? AnZo CÎma H$s nw{îQ> Ho$ {bE {H$aU AmaoI It{ME &   3 

31. (H$) _mZd ZoÌ Ho$ {ZåZ{b{IV ^mJm| _| go àË òH$ H$m EH$ _hÎdnyU© H$m ©̀ {b{IE : 

  (i) Ñ{îQ>nQ>b (ao{Q>Zm)   

(ii) nwVbr   

(I) ZoÌ go {d{^Þ Xÿ[a`m| na pñWV {~å~m| Ho$ \$moH$gZ _| nú_m^r no{e`m| H$s ŷ{_H$m H$m 

CëboI H$s{OE &    3 

32. (H$) (i) H$moB© grYm ~obZmH$ma MmbH$ {H$gr Zmb Mwå~H$ Ho$ Mwå~H$s` joÌ _| AnZo 

Aj H$mo joÌ Ho$ bå~dV² aIVo hþE {Zb§{~V h¡ & O~ Bg MmbH$ go H$moB© 

Ymam àdm{hV hmoVr h¡ Vmo `h ~m`t Amoa {dñWm{nV hmo OmVm h¡ & Bg MmbH$ 

Ho$ {dñW    

   (1) MmbH$ go àdm{hV Ymam _| d¥{Õ H$a Xr OmE ? 

   (2) Zmb Mwå~H$ Ho$ ñWmZ na H$moB© AÝ` Bggo à~b Zmb Mwå~H$ aI 
{X`m OmE ? 

   (3) MmbH$ go àdm{hV Ymam H$s {Xem CËH«${_V H$a Xr OmE ?      
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29. (a) With the help of an activity, explain the action of saliva on the food 
we eat.  

 (b) Why is bile juice important in the process of digestion ? 3  

30. (a) (i) An object of 5 cm height is placed at a distance of 20 cm from 
the optical centre of a concave lens of focal length 18 cm. 
Calculate (1) image distance and (2) the magnification in this 
case.  

  (ii) Compare the values of magnification obtained by a concave 
lens and a convex lens when both the lenses form virtual 
images. 3  

   OR 

 (b) A convex lens can form a (i) real, inverted and magnified image as 
well as (ii) virtual, erect and magnified image of an object. If the 
focal length of the lens is 10 cm, what should be the range of the 
object distance in both cases ? Draw ray diagrams to justify your 
answer.   3 

31. (a) State one important function of the following parts of the human  
eye :  

  (i) Retina 

  (ii) Pupil 

 (b) State the role of ciliary muscles in focussing objects at varying 
distances from the eye.  3  

32. (a) (i) A straight cylindrical conductor is suspended with its axis 
perpendicular to the magnetic field of a horse-shoe magnet. 
The conductor gets displaced towards left when a current is 
passed through it. What will happen to the displacement of 
the conductor if the 

  (1) current through it is increased ? 

  (2) horse-shoe magnet is replaced by another stronger  
horse-shoe magnet ?  

  (3) direction of current through it is reversed ? 
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(ii) {H$gr Mwå~H$s` joÌ _| aIo {H$gr Ymamdmhr MmbH$ na bJZo dmbo ~b H$s 

{Xem H$mo {ZYm©[aV H$aZo dmbo {Z`_ H$m Zm_ {b{IE Am¡a Bg {Z`_ H$m 

CëboI H$s{OE &      3 

 AWdm  

(I) {H$gr j¡{VO H$mS>©~moS>© go D$Üdm©YaV aVo {H$gr Ymamdmhr grYo MmbH$ Ûmam 

CËnÞ Mwå~H$s` joÌ H$m n¡Q>Z© It{ME & Bg_| àdm{hV Ymam H$s {Xem Am¡a Mwå~H$s` 

joÌ aoImAm| H$s {Xem A§{H$V H$s{OE & {H$gr Ymamdmhr MmbH$ go g§~Õ Mwå~H$s` 

joÌ H$s {Xem H$mo {ZYm©[aV H$aZo Ho$ {bE Cn`moJ {H$E OmZo dmbo {Z`_ H$m Zm_ Am¡a 

Cg {Z`_ H$m CëboI H$s{OE &    3 

33. ? AmoµOmoZ ñVa H$s j{V {MÝVm 

H$m H$maU h¡ &  Bg H$WZ H$s nw{îQ> H$s{OE &     3 

IÊS> K 

34. (H$) H$moB© CXmgrZ H$m~©{ZH$ `m¡{JH$ X  (AUwgyÌ C2H6O) AåbrH¥$V K2Cr2O7 go 

A{^{H«$`m H$aHo$ H$moB© AÝ` H$m~©{ZH$ `m¡{JH$ Y  ~ZmVm h¡ {OgH$s àH¥${V Aåbr`  

h¡ &  X  Am¡a Y  gm§Ð H2SO4 H$s CnpñW{V _| J_© H$aZo na _¥Xþ J§Y H$m H$moB© 

`m¡{JH$ Z  ~ZmVo h¢ &   

  (i) X , Y  Am¡a Z  H$mo nhMm{ZE &   

(ii) (1) X  go Y  Am¡a (2) X  go Z _| n[ad{V©V H$aZo _| hmoZo dmbr 

A{^{H«$`mAm| Ho$ amgm`{ZH$ g_rH$aU {b{IE &  

(iii) (1) X  go Y  Ho$ n[adV©Z _| AåbrH¥$V K2Cr2O7 H$s ŷ{_H$m VWm (2) X  

Am¡a Y  H$s A{^{H«$`m _| gm§Ð H2SO4 H$s ŷ{_H$m H$m CëboI H$s{OE & 

(iv)  H$s {H$gr jma go hmoZo dmbr A{^{H«$`m H$m Zm_ {b{IE & 5 

 AWdm  
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  (ii) Name and state the rule for determining the direction of force 

on a current carrying conductor in a magnetic field.   3  

   OR 

 (b) Draw the pattern of the magnetic field produced around a vertical 

current carrying straight conductor passing through a horizontal 

cardboard. Mark the direction of current and the magnetic field 

lines. Name and state the rule which is used to determine the 

direction of magnetic field associated with a current carrying 

conductor.  3 

33. 

  3  

 

SECTION D 

34. (a) 2H6O) on 

reacting with acidified K2Cr2O7 

presence of conc. H2SO4 to give a sweet smelling compoun   

 (i) Identify X , Y  and Z   

 (ii) Write the chemical equations for the reactions in the 

conversion of (1) X  to Y  and (2) X  to Z . 

 (iii) State the role of (1) acidified K2Cr2O7 in the conversion of X  

to Y  and (2) conc. H2SO4 in the reaction of X  and Y . 

 (iv) Name the reaction which occurs when Z  reacts with an alkali. 5 

   OR 
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(I) {ZåZ{b{IV àË òH$ n[adV©Z Ho$ {bE eV©/eV] {b{IE :     5 

  (i) EWoZm°b  EWrZ    

(ii) EWrZ  EWoZ  

(iii) EWoZ    

(iv) EWoZm°b  EWoZm°BH$ Aåb 

(v) EWoZm°BH$ Aåb  Eo{Wb EWoZm°EQ 

 

35. (H$) (i) ? d¥fUm| Ho$ Xmo H$m`m] H$m 

CëboI H$s{OE & 

  (ii) _mZd _mXm _| Xmo AÊS>me`m| _| go H$moB© EH$ ha _mh EH$ AÊS> H$m {d_moMZ 

   

   (1) {ZfoMZ hmo OmVm h¡, VWm 

   (2) {ZfoMZ Zht hmoVm h¡ &      

(iii) Za Am¡a _mXmAm| _| J^©YmaU H$mo amoH$Zo Ho$ {b

OmVm h¡ ?       5  

 AWdm  

(I) (i) :   

 (1) ~«m`mo{\$b_ H$s n{Îm`m± _¥Xm na {JaVr h¢ ?    

 (2) ßboZo[a`m H$B© ^mJm| _| H$Q> OmVm h¡ ?   

 (3) amBµOmong H$s ~rOmUwYmZr §S> _wº$ H$aVr h¢ ?  

 Cn ẁ©º$ VrZm| àH$aUm| _| àË òH$ H$s OZZ {d{Y H$m CëboI H$s{OE &     

(ii) {ZfoMZ Ho$ níMmV² nwîn _| hmoZo dmbo n[adV©Zm| H$m CëboI H$s{OE &  5 
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(b) Carry out the following conversions, stating the condition(s) for 
each :    5 

 (i) Ethanol  Ethene 

 (ii) Ethene  Ethane  

 (iii) Ethane  Chloroethane  

 (iv) Ethanol  Ethanoic acid 

 (v) Ethanoic acid  Ethyl ethanoate 

35. (a) (i) Where are testes located in the human males and why ? State 

two function of the testes.  

  (ii) In the human female, one of the ovaries releases an egg every 

month. State the changes that take place if   

  (1) the egg is fertilized, and 

  (2) the egg is not fertilized. 

  (iii) What is done during the surgical method in males and 

females to prevent pregnancy ? 5  

   OR 

 (b) (i) What happens when : 

  (1) Leaves of Bryophyllum fall on the soil ? 

  (2) Planaria is cut into many pieces ? 

  (3) Sporangia of Rhizopus on maturation liberate spores ? 

  Mention the modes of reproduction in each of the above three 

cases. 

(ii) Write the changes that occur in a flower once the fertilisation 

has taken place.  5 
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36. (H$) Amo_ H$m {Z`_ {b{IE &    

(I) AmaoI _| {XE JE V  I dH«$ H$s àdUVm Ûmam {ZYm©[aV H$s OmZo dmbr ^m¡{VH$ am{e 

H$m Zm_ Am¡a CgH$s n[a^mfm {b{IE & Bg J«m\$ H$m Cn`moJ H$aHo$ Bg ^m¡{VH$ am{e 

H$m SI _mÌH$m| _| _mZ kmV H$s{OE >& 

  

(J) 1 {H$bmodmQ> KÊQ>m (1 kWh) Am¡a 1 Oyb Ho$ ~rM g§~§Y ñWm{nV H$s{OE &    5 

IÊS> L> 

 

37. {d{^Þ H$m`m] Ho$ {bE YmVwAm| H$s Amdí`H$Vm hmoVr h¡ & YmVwAm| H$m {ZîH$f©U CZHo$ 

A`ñH$m| go {H$`m OmVm h¡ & ImZm| go ImoXH$a {ZH$mbo JE A`ñH$m| _| àm`: ~hþV gr 

Aew{Õ`m± {_br hmoVr h¢ & A`ñH$m| go YmVwAm| Ho$ {ZîH$f©U go nyd© A`ñH$m| H$mo gm§{ÐV H$aVo 

g_` BZ Aew{Õ`m| H$mo Xÿa {H$`m OmVm h¡ & ewÕ YmVwAm| Ho$ {ZîH$f©U _| {ZåZ{b{IV MaU 

gpå_{bV hmoVo h¢ :   

 (1) A`ñH$ H$m gm§ÐU  

 (2) gm§{ÐV A`ñH$ go YmVwAm| H$m {ZîH$f©U   

 (3) YmVw H$m n[aîH$aU  
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36. (a) . 

(b) Name and define the physical quantity determined by the slope of  

V  I curve given in the diagram. Use this graph to find the value of 

this physical quantity in SI units. 

  

(c) Establish the relationship between 1 kWh and 1 joule.  5 

SECTION E 

The following questions are source-based/case-based questions. Read the case 
carefully and answer the questions that follow.  

37. Metals are required for a variety of purposes. For this we need their 

extraction from their ores. Ores mined from the earth are usually 

contaminated with many impurities which must be removed prior to the 

extraction of metals. The extraction of pure metal involves the following 

steps :  

 (1) Concentration of ore  

 (2) Extraction of the metal from the concentrated ore  

 (3) Refining of the metal 
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 (H$) _aH$ar Ho$ EH$ A`ñH$ H$m Zm_ {b{IE Am¡a CëboI H$s{OE {H$ `h {H$g ê$n _| 

nm`m OmVm h¡ & 1 

 (I) O~ qµOH$ H$m~m}ZoQ> H$mo dm ẁ H$s gr{_V _mÌm _| AË`{YH$ J_© {H$`m OmVm h¡ V~ 

C ?  1 

 (J) YmVw A H$s Fe2O3 Ho$ gmW A{^{H«$`m AË`{YH$ D$î_mjonr h¡ Am¡a BgH$m Cn`moJ 

 

(I) YmVw A H$mo nhMm{ZE Am¡a hmoZo dmbr A{^{H«$`m H$m Zm_ {b{IE &  

(II) YmVw A H$s Fe2O3 go A{^{H«$`m H$m amgm`{ZH$ g_rH$aU {b{IE &   2 

 AWdm  

(J) 

? gmo{S>`_ Ho$ {dÚwV-AnKQ>Zr AnM`Z _| H¡$WmoS> Am¡a 

EoZmoS> na hmoZo dmbr A{^{H«$`mAm| H$m CëboI H$s{OE &      2 

38. Hw$N> n[adma Mmho Jm±dm| Ho$ hm| AWdm eham| Ho$ hm|, _| _mXm {eewAm| H$mo OÝ_ XoZo dmbr 

 

AWd   {gÕ hmo J`m h¡ {H$ 

d§emZwJV hþAm h¡ &  

(H$) _mZdm| _| {H$gr ZdOmV Ho$ qbJ {ZYm©aU Ho$ AmYma H$m CëboI H$s{OE &  1    

(I) Zam| Ho$ qbJ JwUgyÌ Ho$ O  Zht H$hVo h¢ ?  1  

(J) g§V{V _| JwUgyÌm| H$s g§»`m {H$g àH$ma OZH$m| _| JwUgyÌm| H$s _yb g§»`m Ho$ g_mZ 

({ZpíMV) ~Zr ahVr h¡ ?        2 

 AWdm  

(J) Xmo Ordm| H$m CXmhaU XoH$a ì`m»`m H$s{OE {H$ Hw$N> Ordm| _| qbJ {ZYm©aU 

AmZwd§{eH$ Zht hmoVm h¡ &      2 
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 (a) Name an ore of Mercury and state the form in which Mercury is 

present in it.  1 

 (b) What happens to zinc carbonate when it is heated strongly in a 

limited supply of air ?  1 

 (c) The reaction of a metal A with Fe2O3 is highly exothermic and is 

used to join railway tracks. 

 (I) Identify the metal A and name the reaction taking place. 

 (II) Write the chemical equation for the reaction of metal A with 
Fe2O3.  2 

   OR 

(c) We cannot use carbon to obtain sodium from sodium oxide. Why ? 
State the reactions taking place at cathode and anode during 
electrolytic reduction of sodium chloride.  2 

38. In some families, either rural or urban, females are tortured for giving 

birth to a female child. They do not seem to understand the scientific 

reason behind the birth of a boy or a girl. In fact the mother is not 

responsible for the sex of the child and it has been genetically proved that 

the sex of a newborn is determined by what the child inherits from the 

father.  

 (a) State the basis on which the sex of a newborn baby is determined in 
humans. 1 

 (b) Why is the pair of sex chromosomes called a mismatched pair in 
males ?  1 

 (c) How is the original number of chromosomes present in the parents 
restored in the progeny ?  2 

   OR 

(c) Explain by giving two examples of the organisms in which the sex is 

not genetically determined.  2 
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39. ~hþV go àH$m{eH$ `§Ìm| _| H$B© b|g hmoVo h¢ & BÝh| {H$gr {~å~ Ho$ à{V{~å~ Ho$ AmdY©Z Am¡a 

CgH$s VrúUVm _| d¥{Õ Ho$ {bE g§`mo{OV {H$`m OmVm h¡ & gånH©$ _| aIo b|gm| H$s  

ZoQ> j_Vm (P) ì`{îQ>JV b|gm| H$s j_VmAm| P1, P2, P3 ... H$m ~rOJ{UVr` `moJ hmoVm h¡  

   P = P1 + P2 + P3 ... 

 Bgo b|gm| H$s j_VmAm| H$s gab `moÁ`Vm H$hm OmVm h¡ Am¡a Bg JwU H$m {dñV¥V Cn`moJ 

H¡$_am|, XÿaXe©H$m| Am¡a gyú_X{e©`m| Ho$ b|gm| Ho$ {ZH$m`m| H$s A{^H$ënZm _| {H$`m OmVm h¡ & 

b|gm| Ho$ {ZH$m`m| _| CÎmb b|g Am¡a AdVb b|g Ho$ g§`moOZ ^r hmo gH$Vo h¢ &    

(H$) + 4 D j_Vm Ho$ CÎmb b|g Am¡a  2 D j

àH¥${V (A{^g[aV/Ang[aV) hmoVr h¡ ?    1 

(I) Cg b|g H$s \$moH$g Xÿar n[aH${bV H$s{OE {OgH$s j_Vm  2·5 D h¡ &   1 

(J) {H$gr CÎmb b|g, {OgH$s j_Vm + 0·1 D h¡ Ho$ àH$m{eH$ Ho$ÝÐ go 20 cm H$s Xÿar 

na pñWV {H$gr {~å~ Ho$ à{V{~å~ H$s àH¥${V Am¡a pñW{V H$mo Xem©Zo Ho$ {bE {H$aU 

AmaoI It{ME &   2 

 AWdm  

(J) {H$gr CÎmb b|g Ûmam ~Zm Am^mgr à{V{~å~ {H$gr AdVb b|g Ûmam ~Zo Am^mgr 

à{V{~å~ go {H$g àH$ma {^Þ hmoVm h¡ ? {H$Z eVm] Ho$ AÝVJ©V H$moB© CÎmb b|g Am¡a 

H$moB© AdVb b|g Am^mgr à{V{~å~ ~ZmVm h¡ ?      2 
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39. Many optical instruments consist of a number of lenses. They are 

combined to increase the magnification and sharpness of the image. The 

net power (P) of the lenses placed in contact is given by the algebraic sum 

of the powers of the individual lenses P1, P2, P3  

   P = P1 + P2 + P3  

 This is also termed as the simple additive property of the power of lens, 

widely used to design lens systems of cameras, microscopes and 

telescopes. These lens systems can have a combination of convex lenses 

and also concave lenses.  

 (a) What is the nature (convergent / divergent) of the combination of a 

convex lens of power + 4 D and a concave lens of power  2 D ? 1 

 (b) Calculate the focal length of a lens of power  2·5 D. 1 

 (c) Draw a ray diagram to show the nature and position of an image 

formed by a convex lens of power + 0·1 D, when an object is placed at 

a distance of 20 cm from its optical centre. 2 

   OR 

(c) How is a virtual image formed by a convex lens different from that 

formed by a concave lens ? Under what conditions do a convex and  

a concave lens form virtual images ?  2 
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11. A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) 
has to be used. Please do not hesitate to award full marks if the answer deserves it. 
 

12. Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 
every day and evaluate 20 answer books per day in main subjects and 25 answer books 
per day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced 
syllabus and number of questions in question paper. 
 

13. Ensure that you do not make the following common types of errors committed by the 
Examiner in the past:- 

• Leaving answer or part thereof unassessed in an answer book. 

• Giving more marks for an answer than assigned to it. 

• Wrong totaling of marks awarded on a reply. 

• Wrong transfer of marks from the inside pages of the answer book to the title page. 

• Wrong question wise totaling on the title page. 

• Wrong totaling of marks of the two columns on the title page. 

• Wrong grand total. 

• Marks in words and figures not tallying / not same. 

• Wrong transfer of marks from the answer book to online award list. 

• Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect 
answer.) 

• Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  
 

14. While evaluating the answer books if the answer is found to be totally incorrect, it should be 
marked as cross (X) and awarded zero (0)Marks. 
  

15. Any unassessed portion, non-carrying over of marks to the title page, or totaling error 
detected by the candidate shall damage the prestige of all the personnel engaged in the 
evaluation work as also of the Board. Hence, in order to uphold the prestige of all 
concerned, it is again reiterated that the instructions be followed meticulously and 
judiciously. 
 

16. The Examiners should acquaint themselves with the guidelines given in the “Guidelines 
for spot Evaluation” before starting the actual evaluation. Examiners should acquaint 
themselves with the guidelines given in the Guidelines for spot Evaluation before starting 
the actual evaluation. 
 

17. Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 
the title page, correctly totaled and written in figures and words. 
 

18. The candidates are entitled to obtain photocopy of the Answer Book on request on payment 
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 
Examiners are once again reminded that they must ensure that evaluation is carried out 
strictly as per value points for each answer as given in the Marking Scheme. 
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अंकन योजना (कक्षा - X) 

माध्यवमक विद्यालय परीक्षा, 2023 

विज्ञान (विषय कोड -086) 

[प्रसन पत्र कोड :31/5/1 

अविकतम अंक:80 

प्र.स ं अपेवक्षत उत्तर / मूल्य अंक अंक कुल अंक 

 खंड—अ   

1 (a) 1 1 

2 (c)

 

1 1 

3 (a) 1 1 

4 (d) 1 1 

5   (c) 1 1 

6   (c) 1 1 

7   (a) 1 1 

8   (b) 1 1 

9   (b) 1 1 

10 (c) 1 1 

11 (c) 1 1 

12 (d) 1 1 

13 (b) 1 1 

14 (b) 1 1 

15 (d) 1 1 

16 (c) 1 1 

17 (a) 1 1 

18 (c) 1 1 

19 (d) 1 1 

20 (b) 1 1 

 खंड ख   

21 (a) (i) X = CaSO
4
 . 2H

2
O / जिप्सम / कैजससयम ससफेट डाइहाइडे्रट 

                 Y = CaSO
4
 .

2

1
H

2
O / प्लास्टर ऑफ पेररस / कैजससयम ससफेट हमेीहाइडे्रट 

 

          (ii)  CaSO
4
 . 

2

1
H

2
O + 1

2

1
H

2
O ⎯→⎯ CaSO

4
 .2H

2
O 

(b) (i) M, यह एक अम्लीय जिलयन है 

½ 

 

½ 

 

 

 

1 

 

½,½ 
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       (ii) उदासीन; 

            M एक अम्ल ह ैऔर N एक क्षार ह।ै/उदासीनीकरण अजिजिया 

½ 
 

½ 

 

 

2 

22 (i)  दु्रजमका:-सचूना  उपाजिित करता ह।ै 

(ii) तंजिकाक्ष:- सचूना को जिद्दयतु आिेग के रूप में प्रिाजहत करता ह ैI 

½ ,½  

½ , ½  

 

2 

23 (i)  क्लोरोजफल द्वारा प्रकाश ऊिाि को अिशोजित करना I 

(ii) प्रकाश ऊिाि को रासायजनक ऊिाि में रूपांतररत करना तथा िल अणुओ ंका हाइड्रोिन  

         तथा ऑक्सीिन में अपघटन I 

(iii) कार्िन डाईऑक्साइड का कार्ोहाइडे्रट में अपचयन I 

                                                   अथिा 

(b)  

(i) आजिक्य िल िाष्पोत्सििन द्वारा उत्सजिित होता है। 1 

(ii)  ऑक्सीिन  प्रकाश संशे्लिण के अपजशष्ट के रुप में रंध्र द्वारा उत्सजिित होती ह।ै  

(iii) पजियों का झड़ना। 

                                                                                                       (कोई दो) 

½  

 

1 

 

½  

 

 

 

 

 

1,1 

 

 

 

 

 

 

 

 

 

 

 

 

2 

  24 िठर ग्रंजथ - पेजप्सन 

अग्न्याशय - जिजप्सन 

½ × 4 2 

25 (a) दीघि-दृजष्ट दोि / दरू दृजष्टता 

(b)  

• फोकस दरूी का अत्यजिक हो िाना I 

• नेि गोलक का छोटा हो िाना I  

• उिल लेंस / अजिसारी लेंस 

½  

 
 
 

½  
 

½  
 

½  

 

 

 

 

 

 

2 

26 प्रथम पोिी स्तर पर ऊिाि 5,00,000 J होगी। 

तीसरे पोिी स्तर पर ऊिाि 5000 J होगी। 

प्रत्येक पोिी स्तर में मौिदू कार्िजनक पदाथि/ऊिाि की मािा के औसत मसूय के रूप में 10% 

जलया िा सकता ह ैिो जक उपिोक्ताओ ंके अगले पोिी स्तर तक पह चंता ह।ै 

½  

 

½  

 

1 

 

 

 

 

 

2 

                                                     खंड - ग   

27 (a) अजिजियाएं जिनमें अजिकारकों के मध्य आयनों का आदान-प्रदान होता ह।ै 

 

(b) (i)  

HCl + NaOH ⎯→⎯  NaCl + H2O                     (या कोई अन्य अविविया) 

अम्ल क्षार से अजिजिया कर लिण और िल र्नाता ह।ै 

(ii) Na
2
SO

4
 + BaCl

2
⎯→⎯ BaSO

4
 + 2NaCl          (या कोई अन्य प्रवतविया) 

अघलुनशील पदाथि अथिा अिके्षप (BaSO4) र्नाता ह।ै 

1 

 

 

½  

½  
 

½  

½  

 

 

 

 

 

 

 

3 
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28 (a) मुंह में मौिदू िीिाण ुिोिनोपरांत मुंह में उपजस्थत शकि रा तथा खाद्य कणों के जनम्नकरण से 

अम्ल पैदा करते हैं। 

 

(b) X : Na
2
CO

3
 . 10H

2
O /िाजशंग सोडा / सोजडयम कार्ोनेट डेकाहाइडे्रट 

 

उपयोग : 

• कांच, सार्नु और कागि उद्योग I 

• र्ोरेक्स का जनमािण I 

• साफ़ सफाई के जलए I 

• िल की स्थायी कठोरता को दरू करने के जलए                                         (कोई िी दो) 

 

(c) जिस्टलन  िल को जनकालना । /  

• CuSO4.5H2O 
तापन

→ CuSO4   +   5H2O↑ 

                                                     (श्वेत) 

1 

 

 

 

½  

 

 

 

 

 

 

 

½ ,½ 

 

 

 

½   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

29  

(a)  

• 1 ml मंड का घोल (1%) दो परखनजलयों ‘A’ तथा ‘B’ में लीजिए I 

•परखनली 'A' में 1 ml लार डाजलए तथा दोनों परखनजलयों को 20-30 जमनट तक शांत  

छोड़ दीजिए। अर् दोनों परखनजलयों में कुछ र्ूंदें तन ुआयोडीन घोल की डाजलए। 

• परखनली ‘A’ में आयोडीन का रंग नहीं र्दलता ह ैक्योंजक लार में मौिदू एंिाइम द्वारा मंड़ 

को शकि रा में र्दल जदया िाता ह।ै 

•परखनली ‘B’ में आयोडीन का रंग नीला-काला हो िाता ह ैक्योंजक इसमें केिल  का मंड़ का 

घोल होता ह।ै 

                               [नोट: यवद मात्रा का उल्लेख नहीं वकया गया है तो अंक न काटें] 

                                                                                    (या कोई अन्य गवतविवि) 

 

(b) (1)  जपि िोिन के अम्लीय माध्यम को क्षारीय माध्यम में र्दल दतेा ह,ै 

            ताजक अग्न्याशय के एंिाइम उस पर कायि कर सके I 

      (2) यह िसा का इमाससीकरण िी करता ह।ै / िसा की र्ड़ी गोजलकाओ ंको छोटी  

            गोजलकाओ ंमें खंजडत कर दतेा ह।ै                                                   (कोई एक) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

½ × 4 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 
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30 (a)   जदया गया ह,ै 

• जरं्र् की ऊंचाई (h) = 5 cm 

• जरं्र् की दरूी (u) = - 20 cm 

• फोकस दरूी (f) = - 18 cm 

• प्रजतजरं्र् की दरूी (v) = ? 

 (1)
v

1
 – 

u

1
 = 

f

1
 

 
v

1
 = 

u

1
 + 

f

1
 = 

20–

1
 + 

18–

1
 = – 




 +

360

20  18
 

•       = 360

38–

 

  

•  v = 
38

360–
 = – 9·47 cm  

 

(2) m =  
v

u
 = 
−9.47

−20
 = 0·47  

 

(ii) उिल लेंस के जलए : m > 1, अितल लेंस के जलए m < 1 

अथिा 

(3) (i) 20 cm > u > 10 cm /10 cm and 20 cm के मध्य में 

      (ii) िस्त ुकी दरूी 10 cm से जनम्न हैं    / 10 > u > 0  

       (i) 

 

 

 

 

       

      (ii) 

 

 

 

 

 

                      (वकरण की वदशा ना दशााने पर ½  अंक काट दीवजए) 

 

 

 

 

 

 

 

 

½  

 

 

 

 

 

 

 

 

½  

 

 
 

½ , ½ 

 

 

½ , ½   

 
 
 

½  
 

½  

 

 

 

 

1 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

31 (a) (i) रेजटना एक कोमल प्रकाश संिेदनशील सकू्ष्म जझसली की तरह व्यिहार करती ह,ै जिस  

      पर िस्त ुका प्रजतजर्म्र्  र्नता ह।ै 
 

1 
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     (ii) पतुली: नेि में प्रिेश करने िाले प्रकाश की मािा को जनयंजित करती ह ैI 

 

(b) िर् पक्ष्मािी पेजशयां जसकुड़ती या जशजथल होती हैं ,तो य ेलेंस की ििता को र्दल दतेी हैं, 

जिसकी ििह से फोकस दरुी में ह आ पररितिन नेि से अलग-अलग दरूी पर रखी िस्तओु ंपर सही 

फोकस करने में सहायता करता ह।ै 

             [िैकवल्पक उत्तर: यह लेंस की फोकस दूरी या मोटाई को वनयंवत्रत करता है।] 

 

1 

 

 

 

1  

 

 

 

 

 

 

 

3 

32 (a) (i)  

(1) र्ढ़ता ह ैI 

(2) र्ढ़ता है। 

(3) जिस्थापन की जदशा उत्िजमत हो िाती ह ैI 

 

(ii) • फ्लेजमंग का िामहस्त( र्ायााँ हाथ ) जनयम 

• इस जनयम के अनसुार अगर हम अपने र्ाएं हाथ की तििनी, मध्यमा तथा अंगठेू,को इस प्रकार 

फैलाएं जक ये तीनों एक दसूरे के परस्पर लंर्ित हों। यजद तििनी उंगली चुंर्कीय के्षि की जदशा 

और मध्यमा उंगली चालक में प्रिाजहत जिद्दयतु िारा की जदशा की ओर संकेत करती ह,ैतो अंगठूा 

चालक की गजत की जदशा अथिा चालक पर आरोजपत र्ल की जदशा की ओर संकेत करेगा । 

/     कथन का िैकवल्पक उत्तर 

 

 

 

अथवा 

 
 

½  

½  

½  

 

 

½  

 

 

 

 

1 
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(b)  

 

 

• पैटनि 

• जिद्दयतु िारा की जदशा 

• चमु्र्कीय के्षि की जदशा 

 

(नोट: यवद पररिती प्रवतरोि और ऐमीटर नहीं दशााए गए हैं,तो िी अंक ना काटे ) 

 

•  दजक्षण-हस्त अंगषु्ठ जनयम  

• कसपना कीजिए जक आप अपने दाजहने हाथ में जिद्दयतु िारािाही चालक को इस प्रकार 

पकडे़ ह ए हैं जक आपका अंगठूा जिद्दयतु िारा की जदशा की ओर  संकेत करता ह,ै तो आपकी 

अंगजुलयााँ चालक के चारों ओर चुंर्कीय के्षि की के्षि रेखाओ ंकी जदशा में जलपटी होंगी I 

       / कथन का िैकजसपक उिर 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

½  

 

½ 

 

½  

 

 

 

 

 

½  

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

33 • उच्च उिाि िाली पैरार्ैंगनी जिजकरणें ऑक्सीिन (O2) अणओु ं को जिघजटत कर स्ितंि 

ऑक्सीिन (O) परमाण ुर्नाती हैं  

 

• ऑक्सीिन के ये स्ितंि परमाण ुऑक्सीिन अण ुके साथ संयकु्त होकर ओिोन (O3) र्नाते 

हैं  

िैकवल्पक उत्तर 

 O2 ⎯⎯ →⎯
UV

 O + O  

            O + O2
⎯→⎯  O3  

 

1 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



086_31/5/1_ विज्ञान # पषृ्ठ-9 
 

ओजोन परत को हावन: 

•पैरार्ैंगनी जिजकरण पथृ्िी पर पह ाँच कर कई हाजनकारक प्रिाि उत्प्न करती हैं िैसे मानि में 

त्िचा का कैं सर. 

 

½ , ½  

 

 

3 

 खंड – घ   

34 (a)(i) X : CH
3
CH

2
OH / एजथल एसकोहल / एथेनॉल 

 Y :CH
3
COOH / एसीजटक अम्ल / एथेनोइक अम्ल 

               Z : CH
3
COOC

2
H

5
 / एजथल एथेनोएट / एजथल एसीटेट 

(ii) 

(1) C
2
H

5
OH 

 अम्लीय K2Cr2O7 
→             CH

3
COOH   

  

(2) CH
3
COOH + C

2
H

5
OH  

 सांद्र H 2SO4 
→            CH

3
COOC

2
H

5
+H

2
O 

  

 

(iii) (1) ऑक्सीकारक/ऑक्सीिन प्रदान करता है 

        (2) जनििलीकरण कारक / िलजनष्कासन में मदद करता ह ै \ 

(iv) सार्नुीकरण अजिजिया 

 

                                                           अथिा 

(b)(i)C2H5OH
K 443

4SO2H .Conc
⎯⎯⎯⎯⎯⎯ →⎯  C2H4+ H2O 

 

(ii) H2C=CH2

H2 
→  
𝑁𝑖/𝑃𝑑

 CH3 -CH3  

 

 

(iii)C2H6 + Cl2 
सूयि का प्रकाश 
→     C2H5Cl + HCl  

  

(iv) CH
3
CH2OH 

क्षारकीय KMnO4  
→           CH

3
COOH6  

 

  

(v) CH3COOH+C2H5OH
अम्ल   
→    CH3COOC2H5 + H2O  

½  
 

½  
 

½  

 

 
 

1 

 

 

 

1 

 

 

 

 

½  

½  

½  

 

 

 

 

1 

 

 

1 

 

 

 

 

1 

 

 

 

1 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

35 (a) (i) ििृण उदर गहुा के र्ाहर ििृण कोि में जस्थत होते हैं क्योंजक शिुाण ुउत्पादन के जलए 

आिश्यक ताप शरीर के ताप से कम होता ह ैI 

 

½ , ½ 

 

 

अम्लीय K2Cr2O7 
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• कायि:- 

•शिुाण ु/ नर िनन कोजशका का जनमािण 

•टेस्टोस्टेरोन/नर िनन हॉमोन का उत्पादन  

(ii) (1) जनिेजचत अंड (यगु्नमनि) जििाजित होना आरंि कर भ्रणू र्नाता ह ैतथा गिािशय की 

परत में प्रत्यारोजपत हो िाता ह।ै 

(2) गिािशय की िीतरी परत िीरे-िीरे टूट कर योजन मागि से रुजिर एिं म्यकूस के रूप में 

जनष्काजसत होती ह ैI 

(iii) शिुिाजहकाओ ंका अिरूद्ध होना / परुुिों में िेसेक्टोमी I 

      अंडिाजहनी/फेलोजपयन नजलका का अिरूद्ध होना / मजहलाओ ंमे ट्यरेू्क्टॉमी। 

                                                          अथिा 

(b) (i)  

(1) पजियों की कोर पर कुछ कजलकाएाँ जिकजसत होकर नए पौिे में जिकजसत हो िाती हैं I-    

      काजयक प्रिििन 

(2) प्लैनेररया का प्रत्येक िाग पणूि िीि में जिकजसत हो िाता ह ै–पनुरुद्भिन/ पनुििनन। 

(3) उपयकु्त नम सतह के संपकि  में आने पर र्ीिाण ुिजृद्ध करने लगते हैं - र्ीिाण ुसमासंघ। 

(ii) 

• यगु्नमनि र्ीिांड के िीतर एक भ्रणू र्नने के जलए कई र्ार जििाजित होता ह।ै 

• र्ीिांड से एक कठोर आिरण जिकजसत होता ह ैिो र्ीि में पररिजतित हो िाता ह।ै 

• अंडाशय तीव्रता से िजृद्ध करता ह ैऔर पररपक्ि होकर फल र्नाता ह।ै 

• पंखजुड़यााँ,र्ाह्यदल,पुंकेसर,िजतिका एिं िजतिकाग्र प्रायः मरुझाकर जगर िाते हैं। 

 

 

 

½  

½  

 

 

1 

 

1 

 

½ , ½ 

 

 

 

 

 

 ½, ½ 

 

½ , ½  

½ , ½  

 

 

 

 

 

½ × 4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

36 (a) एक जिद्दयुत पररपथ में िात ुके तार के दो जसरों के र्ीच जिििा्तर V,  उसमें प्रिाजहत होने 

िाली जिद्दयतु िारा के समानपुाती होता ह,ैपर्त ुतार का ताप समान रहना चाजहए I /  

V α I or V = IR (समान ताप पर) 

 

(b) पररिती प्रजतरोि  

जकसी चालक का  िह गणु जिससे िह स्ियं में प्रिाजहत होने िाले आिेश के प्रिाह का जिरोि 

करता ह ैI 

R = ढाल = 
𝑦2−𝑦1

𝑥2−𝑥1
/ 
V

I
= 
6 − 0

0.8−0
 

 

                      = 
60

8
 = 7.5 Ω 

 

(a) 1 kWh = 1000 × 
𝐽

𝑠𝑒𝑐
 × 3600 सेकण्ड 

      1 kWh = 3.6 × 106  J 

 

 

 

1 

 
 

1 

1 

 

½  

 

 

½  

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

 खंड – ड   

37 (a) (a)जसनार्ार, HgS (ससफाइड के रुप में) ½ , ½  



086_31/5/1_ विज्ञान # पषृ्ठ-11 
 

(b)जिंक ऑक्साइड के जनमािण के जलए (जनस्तापन) 

        िैकवल्पक उत्तर:   

 

ZnCO3(s) ⎯→⎯  ZnO + CO2     

 

(c)(I)ऎलजुमजनयम, थजमिट अजिजिया 

(II)Fe2O3 + 2Al ⎯→⎯  2Fe + Al2O3 + ऊष्मा  

                                                    अथिा 

(c) कार्िन की अपेक्षा सोजडयम में ऑक्सीिन के प्रजत अजिक रं्ितुा होती ह ै

/सोजडयम अत्यजिक अजिजियाशील होता ह ैI 

• कैथोड पर :- Na+ + e- ⎯→⎯  Na  

• एनोड पर:- 2Cl– ⎯→⎯  Cl2 + 2e- 

1 

 

 

 

 

 

 

½ , ½  

 

1 

 

 

 

1 
 

½  

 

½  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

38 (a) यजद परुुि के शिुाण ुका X गणुसिू मादा अंडाण ुके X गणुसिू से संलजयत होता है 

तो लड़की का ि्म होता ह।ै 

यजद परुुि के शिुाण ुका Y गुणसिू मादा अंडाण ुके X गणुसिू से संलजयत होता है 

तो लड़के का ि्म होता ह।ै  

/ िैकवल्पक उत्तर: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(b) क्योंजक एक गणु सिू सामा्य आकार का  ‘X’ होता ह ैतथा दसूरा गणुसिू छोटा होता है 

‘Y’.    

(c)  

•िनन कोजशका/युग्नमकों के जनमािण के दौरान गणुसिूों की संख्या घटकर आिी रह िाती है। 

 

½  

 

½  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 
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• िर् दो व्यजष्टयों की दो िनन कोजशकाएं जमलकर एक नया व्यजष्ट र्नाती हैं, तो िे गणुसूिों  

    की मलू संख्या को पनुस्थािजपत कर दतेी हैं। 

 

अथिा 

(c) उदाहरण 1 : सरीसपृ – िह ऊष्मायन तापमान जिस पर अंड जनिेजचत होते हैं,यह जनिािररत  

                       करता ह ैजक अंडों में जिकजसत होने िाला संतजत नर होगी या मादा होगी। 

उदाहरण 2 : घोंघे – ये िीि अपनी िीिन अिजि के दौरान जलंग पररितिन कर सकते हैं I 

 

2 

 

 

 

 

 

 

½ , ½  

 

½ , ½  

 

 

 

 

 

 

 

 

 

 

4 

39 (a) अजिसारी  

(b) f = 
1

P
 = 

1

−2.5
 = - 0.4 मि. or -40 सेंिी 

(c)  

 

 
 

अथिा 

(c) • उिल लेंस - आिजिित 

       अितल लेंस - छोटा 

• उिल – जरं्र्  O और F के र्ीच में होगा I 

  अितल - िस्त ुप्रकाजशक कें द्र और अनंत के मध्य कहीं िी होगा । 

1 

½ , ½  

 

 

 

2 

 

 

 

 

 

 

½  

½  

½  

 ½  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 

 

                                                            ******************************* 
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Strictly Confidential: (For Internal and Restricted use only) 
Secondary School Examination, 2023 

Marking Scheme – Science  (For Visually Impaired Candidates Only) HINDI 
                               (SUBJECT CODE -086) (PAPER CODE –31/5/2) 
 
General Instructions: - 
 

1. You are aware that evaluation is the most important process in the actual and correct 
assessment of the candidates. A small mistake in evaluation may lead to serious 
problems which may affect the future of the candidates, education system and teaching 
profession. To avoid mistakes, it is requested that before starting evaluation, you must 
read and understand the spot evaluation guidelines carefully. 
 

2. “Evaluation policy is a confidential policy as it is related to the confidentiality of the 
examinations conducted, Evaluation done and several other aspects. Its’ leakage to 
public in any manner could lead to derailment of the examination system and affect 
the life and future of millions of candidates. Sharing this policy/document to 
anyone, publishing in any magazine and printing in News Paper/Website etc may 
invite action under various rules of the Board and IPC.” 

 
3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking 
Scheme should be strictly adhered to and religiously followed. However, while 
evaluating, answers which are based on latest information or knowledge and/or are 
innovative, they may be assessed for their correctness otherwise and due marks be 
awarded to them. In class-X, while evaluating two competency-based questions, 
please try to understand given answer and even if reply is not from marking 
scheme but correct competency is enumerated by the candidate, due marks should 
be awarded.  

 
4. The Marking scheme carries only suggested value points for the answers. These are in 

the nature of Guidelines only and do not constitute the complete answer. The students 

can have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5. The Head-Examiner must go through the first five answer books evaluated by each 
evaluator on the first day, to ensure that evaluation has been carried out as per the 
instructions given in the Marking Scheme. If there is any variation, the same should be 
zero after delibration and discussion. The remaining answer books meant for evaluation 
shall be given only after ensuring that there is no significant variation in the marking of 
individual evaluators. 
 

6. Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 
evaluators are committing. 

 
7. If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly. 

 
8. If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 
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9. If a student has attempted an extra question, answer of the question deserving more 
marks should be retained and the other answer scored out with a note “Extra Question”. 

 
10. No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 
 

11. A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question 
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves 
it. 
 

12. Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 
every day and evaluate 20 answer books per day in main subjects and 25 answer books 
per day in other subjects (Details are given in Spot Guidelines).This is in view of the 
reduced syllabus and number of questions in question paper. 
 

13. Ensure that you do not make the following common types of errors committed by the 
Examiner in the past:- 

• Leaving answer or part thereof unassessed in an answer book. 

• Giving more marks for an answer than assigned to it. 

• Wrong totaling of marks awarded on a reply. 

• Wrong transfer of marks from the inside pages of the answer book to the title page. 

• Wrong question wise totaling on the title page. 

• Wrong totaling of marks of the two columns on the title page. 

• Wrong grand total. 

• Marks in words and figures not tallying / not same. 

• Wrong transfer of marks from the answer book to online award list. 

• Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 
correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

• Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  
 

14. While evaluating the answer books if the answer is found to be totally incorrect, it should 
be marked as cross (X) and awarded zero (0)Marks. 
  

15. Any unassessed portion, non-carrying over of marks to the title page, or totaling error 
detected by the candidate shall damage the prestige of all the personnel engaged in the 
evaluation work as also of the Board. Hence, in order to uphold the prestige of all 
concerned, it is again reiterated that the instructions be followed meticulously and 
judiciously. 
 

16. The Examiners should acquaint themselves with the guidelines given in the “Guidelines 
for spot Evaluation” before starting the actual evaluation. Examiners should acquaint 
themselves with the guidelines given in the Guidelines for spot Evaluation before starting 
the actual evaluation. 
 

17. Every Examiner shall also ensure that all the answers are evaluated, marks carried over 
to the title page, correctly totaled and written in figures and words. 
 

18. The candidates are entitled to obtain photocopy of the Answer Book on request on 
payment of the prescribed processing fee. All Examiners/Additional Head 
Examiners/Head Examiners are once again reminded that they must ensure that 
evaluation is carried out strictly as per value points for each answer as given in the 
Marking Scheme. 
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अंकन योजना (कक्षा - X) 

माध्यवमक विद्यालय परीक्षा, 2023 

विज्ञान (विषय कोड -086) 

[प्रसन पत्र कोड :31/5/2 

अविकतम अंक:80 

प्र.सं 
अपेवक्षत उत्तर / मूल्य अंक 

अंक कुल 

अंक 

 (खंड – क)   

1 (a) 1 1 

2 (c)

 

1 1 

3 (c) 1 1 

4 (d) 1 1 

5 (a) 1 1 

6 (c) 1 1 

7 (a) 1 1 

8 (d) 1 1 

9 (c) 1 1 

10 (c) 1 1 

11 (b) 1 1 

12 (b) 1 1 

13 (c) 1 1 

14 (d) 1 1 

15 (b) 1 1 

16 (b) 1 1 

17 (b) 1 1 

18 (d) 1 1 

19 (c) 1 1 

20 (a) 1 1 

 (खंड – ख)   

21 •प्लास्टिक गैर-जैव स्िम्िीकरणीय होते हैं। / जीवाण ुऔर कवक जैसे अपघिक प्लास्टिक 

को सरल पदार्थों में िहीं तोड़ सकते। 

•ये अस्िय पदार्थथ होते हैं। 

                                                                                               (या कोई अन्य) 

 

1 

 

1 

 

 

 

 

2 

22 (a) दीघथ-दृस्ि दोष / दरू दृस्िता ½  
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(b)  

• फोकस दरूी का अत्यस्िक हो जािा I 

• िेत्र गोलक का छोिा हो जािा I  

• उत्तल लेंस / अस्िसारी लेंस 

 
 

½  
 

½  
 

½  

 

 

 

 

2 

23 (a)   पस्ियों और टतििाररयों को अपिे शरीर के तापमाि को बिाए रखिे के स्लए उच्च 

ऊजाथ की आवश्यकता होती है 

(b) उियचर / सरीसपृ 

• वातावरण का तापमाि। 

1 

 

½ 

½ 

 

 

 

2 

24 (a)  ये ससु्िस्ित करते हैं स्क वाय ुमागथ स्िपस्तत ि हो I/ श्वासिली 

(b) ये एक सतह उपलब्ि कराती ह ैजहाां गैसों का स्वस्िमय होता ह।ै 

(c) ये ऑक्सीजि को ऊतकों तक पह ांचाते  हैं। 

(d)अांतवाथही वाय ुस्िटयस्ददत होती। 

 

 

 

½ × 4 

 

 

 

2 

25 (i)  क्लोरोस्फल द्वारा प्रकाश ऊजाथ को अवशोस्षत करिा I 

(ii) प्रकाश ऊजाथ को रासायस्िक ऊजाथ में रूपाांतररत करिा तर्था जल अणुओ ां का हाइड्रोजि  

         तर्था ऑक्सीजि में अपघिि I 

(iii) काबथि डाईऑक्साइड का काबोहाइडे्रि में अपचयि I 

                                                   अथिा 

(b)  

(i) आस्िक्य जल वाष्पोत्सजथि द्वारा उत्सस्जथत होता है। 1 

(ii)  ऑक्सीजि  प्रकाश सांशे्लषण के अपस्शि के रुप में रांध्र द्वारा उत्सस्जथत होती ह।ै  

(iii) पस्त्तयों का झड़िा। 

                                                                                                       (कोई दो) 

½  

 

1 

 

½  

 

 

 

 

 

1,1 

 

 

 

 

 

 

 

 

 

 

 

 

2 

26 • (i) X = CaSO
4
 . 2H

2
O / स्जप्सम / कैस्ससयम ससफेि डाइहाइडे्रि 

                 Y = CaSO
4
 .

2

1
H

2
O / प्लाटिर ऑफ पेररस / कैस्ससयम ससफेि हमेीहाइडे्रि 

 

(ii)  CaSO
4
 . 

2

1
H

2
O + 1

2

1
H

2
O ⎯→⎯ CaSO

4
 .2H

2
O 

                                                    अथिा 

 

(b) (i) M, यह एक अम्लीय स्वलयि है 

       (ii) उदासीि; 

            M एक अम्ल ह ैऔर N एक िार ह।ै/उदासीिीकरण अस्िस्िया 

½ 

 

½ 

 

 

 

1 

 

 

 

½,½ 
 

½ 
 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

 खंड-ग   

27  फसलों की रिा के स्लए कीििाशकों जैसे कुछ हास्िकारक पदार्थों का उपयोग स्कया 

जाता ह।ै फसलों पर स्छड़के ह ए रसायि स्मट्टी या जलाशय में घलु जाते हैं I स्मट्टी से इदहें 
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पािी और खस्िजों के सार्थ पौिों द्वारा अवशोस्षत स्कया जाता ह ैI जब इि पौिों को हमारे  

द्वारा खाया जाता ह ै तब इस तरह ये हमारे शरीर में  प्रवेश कर जाते हैं  I  

 

(िैकवल्पक उत्तर: यवद बच्चा खाद्य श्रंखला, के्रवडट वचह्नों के माध्यम से प्रश्न की 

व्याख्या करता है तो भी अंक वदए जाए।ँ) 

 

चूांस्क मािव स्कसी िी खाद्य श्ृांखला में शीषथ टतर पर होता ह,ै इसस्लए इि रसायिों की 

अस्िकतम साांद्रता उिमें जमा हो जाती ह।ै 

2 

 

 

 

 

 

1 

 

 

 

 

 

 

 

3 

28 (a) (i)  

(1) बढ़ता ह ैI 

(2) बढ़ता है। 

(3) स्वटर्थापि की स्दशा उत्िस्मत हो जाती ह ैI 

 

(ii) • फ्लेस्मांग का वामहटत( बायााँ हार्थ ) स्ियम 

• इस स्ियम के अिसुार अगर हम अपिे बाएां हार्थ की तजथिी, मध्यमा तर्था अांगठेू,को इस 

प्रकार फैलाएां स्क य ेतीिों एक दसूरे के परटपर लांबवत हों। यस्द तजथिी उांगली चुांबकीय िेत्र 

की स्दशा और मध्यमा उांगली चालक में प्रवास्हत स्वद्दयतु िारा की स्दशा की ओर सांकेत 

करती ह,ैतो अांगठूा चालक की गस्त की स्दशा अर्थवा चालक पर आरोस्पत बल की स्दशा 

की ओर सांकेत करेगा । 

/     कथन का िैकवल्पक उत्तर 

 

 

 

 

अथवा 

 
 

½  

½  

½  

 

 

½  

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



086_31/5/2_ विज्ञान # पषृ्ठ-6 
 

 

 

(b)  

 

 

• पैििथ 

• स्वद्दयतु िारा की स्दशा 

• चमु्बकीय िेत्र की स्दशा 

 

(नोट: यवद पररिती प्रवतरोि और ऐमीटर नहीं दर्ााए गए हैं,तो भी अंक ना काटे ) 

 

•  दस्िण-हटत अांगषु्ठ स्ियम  

• कसपिा कीस्जए स्क आप अपिे दास्हिे हार्थ में स्वद्दयतु िारावाही चालक को इस प्रकार 

पकडे़ ह ए हैं स्क आपका अांगठूा स्वद्दयतु िारा की स्दशा की ओर  सांकेत करता ह,ै तो 

आपकी अांगसु्लयााँ चालक के चारों ओर चुांबकीय िेत्र की िेत्र रेखाओां की स्दशा में स्लपिी 

होंगी I 

       / कर्थि का वैकस्सपक उत्तर 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

½  

 

½ 

 

½  

 

 

 

 

½  

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 
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• अवतल लेंस (स्द्वफोसी लेंस का ऊपरी िाग) दरू की ससु्विा प्रदाि करता ह ै

             दृस्ि। 

• उत्तल लेंस (स्द्वफोसी लेंस का स्िचला िाग) स्िकि दृस्ि की सुस्विा प्रदाि करता ह।ै 

• जरा-दरूदृस्िता 

- आांखों के स्िटिलीय लेंस का लचीलापि कम होिा। 

- पक्ष्मािी पेस्शयों का िीरे-िीरे कमजोर होिा 

                                                                                        (कोई एक कारण) 
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½ 

 

½ 

 

 

½ 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

 

30 (a)   स्दया गया ह,ै 

• स्बांब की ऊां चाई (h) = 5 cm 

• स्बांब की दरूी (u) = - 20 cm 

• फोकस दरूी (f) = - 18 cm 

• प्रस्तस्बांब की दरूी (v) = ? 

 (1)
v

1
 – 

u

1
 = 

f

1
 

 
v

1
 = 

u

1
 + 

f

1
 = 

20–

1
 + 

18–

1
 = – 




 +

360

20  18
 

•       = 360

38–

 

  

•  v = 
38

360–
 = – 9·47 cm 1    

 

(2) m =  
v

u
 = 
−9.47

−20
 = 0·47  

 

(ii) उत्तल लेंस के स्लए : m > 1, अवतल लेंस के स्लए m < 1 

अथिा 

(3) (i) 20 cm > u > 10 cm /10 cm and 20 cm के मध्य में 

      (ii) वटत ुकी दरूी 10 cm से स्िम्ि हैं    / 10 > u > 0  

 

 

 

 

 

 

 

½  

 

 

 

 

 

 

 

 
 

½  

 
 
 

½ , ½ 

 

 

½ , ½   

 

 

 

½  
 

½  
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स्करण आरेख के सांदिथ में:- 

       (i) 

 

•  

•  

 

 

       (ii) 

•  

 

 

 

 

                  (वकरण की वदर्ा ना दर्ााने पर ½  अंक काट दीवजए) 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

31  

(a)  

• 1 ml मांड का घोल (1%) दो परखिस्लयों ‘A’ तर्था ‘B’ में लीस्जए I 

•परखिली 'A' में 1 ml लार डास्लए तर्था दोिों परखिस्लयों को 20-30 स्मिि तक शाांत  

छोड़ दीस्जए। अब दोिों परखिस्लयों में कुछ बूांदें ति ुआयोडीि घोल की डास्लए। 

• परखिली ‘A’ में आयोडीि का रांग िहीं बदलता ह ैक्योंस्क लार में मौजदू एांजाइम द्वारा 

मांड़ को शकथ रा में बदल स्दया जाता ह।ै 

•परखिली ‘B’ में आयोडीि का रांग िीला-काला हो जाता ह ैक्योंस्क इसमें केवल  का मांड़ 

का घोल होता ह।ै 

                           [नोट: यवद मात्रा का उल्लेख नहीं वकया गया है तो अंक न काटें] 

                                                                                 (या कोई अन्य गवतविवि) 

 

(b) (1)  स्पत्त िोजि के अम्लीय माध्यम को िारीय माध्यम में बदल दतेा ह,ै 

            तास्क अग्नदयाशय के एांजाइम उस पर कायथ कर सके I 

      (2) यह वसा का इमाससीकरण िी करता ह।ै / वसा की बड़ी गोस्लकाओां को छोिी  

            गोस्लकाओां में खांस्डत कर दतेा ह।ै                                              (कोई एक) 

 

 

 

 

 

 

 

 

 

 

 

 

 

½ × 4 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

32 (a) सावथस्त्रक सचूक अम्लों और िारों के रांगों की एक स्वटततृ श्ृांखला दतेा है 

       जबस्क स्लिमस स्वलयि का केवल एक ही रांग बदलता ह।ै / सावथस्त्रक सचूक 

       अम्ल/िार की शस्ि को दशाथता है, स्लिमस िहीं। 

(b) 

इसका  परास  0 से 14 ह।ै 

 

1 
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यह स्कसी स्वलयि में हाइड्रोजि आयि की साांद्रता को मापता ह।ै 

जैस-ेजैसे H+ की सादद्रता घिती ह,ै pH बढ़ जाता ह ैऔर इसके स्वपरीत जैसे-जैसे H+ की 

सादद्रता बढ़ती ह,ै pH घि जाता ह ैI                                                                                                                                                                                                    

                                                                                                     (कोई दो) 

(c) यस्द पािी को ति ुअम्ल में स्मलाया जाए , तो उत्पदि ऊष्मा से 

स्वलयि  छलकेगा तो  जलिे का कारण बिेगा  / अत्यस्िक ऊष्मा उत्पदि होती ह।ै   

 

½, ½ 
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33 (a) अस्िस्ियाएां स्जिमें अस्िकारकों के मध्य आयिों का आदाि-प्रदाि होता ह।ै 

 

(b) (i)  

HCl + NaOH ⎯→⎯  NaCl + H2O                     (या कोई अन्य अवभवक्रया) 

अम्ल िार से अस्िस्िया कर लवण और जल बिाता ह।ै 

(ii) Na
2
SO

4
 + BaCl

2
⎯→⎯ BaSO

4
 + 2NaCl          (या कोई अन्य प्रवतवक्रया) 

अघलुिशील पदार्थथ अर्थवा अविेप (BaSO4) बिाता ह।ै 

1 

 

 

½  

½  

 

½  

½  

 

 

 

 

 

 

3 

 खंड – घ   

34  (a)  

 

 

 

 

 

 

 

 

(b) 
R

1
 = 

321 R

1
  

R

1
  

R

1
++  

       = 
1

10
 + 

1

20
 + 

1

30
 

       = 
6+3+2

60
 

 R = 
11

60
     / 5.45  

(c) I = R

V

 

 

 

 

 

 

 

 

2 
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            I = 

 
11

60

V 10
 = 

60

110
A = 1·83 A 

 

 

 

1 
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35 (a) (i) वषृण उदर गहुा के बाहर वषृण कोष में स्टर्थत होते हैं क्योंस्क शिुाण ुउत्पादि के 

स्लए आवश्यक ताप शरीर के ताप से कम होता ह ैI 

 

• कायथ:- 

•शिुाण ु/ िर जिि कोस्शका का स्िमाथण 

•िेटिोटिेरोि/िर जिि हॉमोि का उत्पादि  

(ii) (1) स्िषेस्चत अांड (यगु्नमिज) स्विास्जत होिा आरांि कर भ्रणू बिाता ह ैतर्था गिाथशय 

की परत में प्रत्यारोस्पत हो जाता ह।ै 

(2) गिाथशय की िीतरी परत िीरे-िीरे िूि कर योस्ि मागथ से रुस्िर एवां म्यकूस के रूप में 

स्िष्कास्सत होती ह ैI 

(iii) शिुवास्हकाओां का अवरूद्ध होिा / परुुषों में वेसेक्िोमी I 

      अांडवास्हिी/फेलोस्पयि िस्लका का अवरूद्ध होिा / मस्हलाओां मे ि्यबेूक्िॉमी। 

                                                          अथिा 

(b) (i)  

(1) पस्त्तयों की कोर पर कुछ कस्लकाएाँ स्वकस्सत होकर िए पौिे में स्वकस्सत हो जाती हैं I-    

      कास्यक प्रविथि 

(2) प्लैिेररया का प्रत्येक िाग पणूथ जीव में स्वकस्सत हो जाता ह ै–पिुरुद्भवि/ पिुजथिि। 

(3) उपयिु िम सतह के सांपकथ  में आिे पर बीजाण ुवसृ्द्ध करिे लगते हैं - बीजाण ुसमासांघ। 

(ii) 

• यगु्नमिज बीजाांड के िीतर एक भ्रणू बििे के स्लए कई बार स्विास्जत होता ह।ै 

• बीजाांड से एक कठोर आवरण स्वकस्सत होता ह ैजो बीज में पररवस्तथत हो जाता ह।ै 

• अांडाशय तीव्रता से वसृ्द्ध करता ह ैऔर पररपक्व होकर फल बिाता ह।ै 

• पांखसु्ड़यााँ,बाह्यदल,पुांकेसर,वस्तथका एवां वस्तथकाग्र प्रायः मरुझाकर स्गर जाते हैं। 

 

½ , ½ 

 

 

 

 

½  

½  

 

1 

 

1 

 

½  

½  

 

 

 
 

½ , ½ 

 

 

½ , ½  
 

½ , ½  

 

 

 

 

½ × 4 
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36 (a) (i) 

 

 

 

 

 

 C – H आबांिों की सांख्या = 10  

 C – C आबांिों की सांख्या = 3  

 

 

 

 

1 

 

 

 

 

 

½ 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
• प्रोपनेन 
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(ii)         

 

 

 

 

 

 

 

     • प्रोपेनाल 

 

 

 

 

                                                  अथिा 

(b) (i) यह एक अस्िस्िया ह ैस्जसमें कोई िार स्कसी एटिर के सार्थ अस्िस्िया करके 

एसकोहल और काबोस्कसस्लक अम्ल का लवण बिाती है। /  

वैकस्सपक उत्तर 

    CH3COOC2H5 + NaOH ⎯→⎯  CH3COONa + C2H5OH   

 

 साबुन  अपमाजाक 

(1) के ये लांबी श्ृांखला वाले 

काबोस्क्सस्लक अम्लों के 

सोस्डयम और पोिेस्शयम लवण 

होते हैं । (RCOO-Na+) 

 

 
लांबी श्ृांखला के ससफोस्िक अम्ल 

के सोस्डयम लवण ( ROSO3
-Na+) 

/क्लोराइड या ब्रोमाइड आयिों के 

अमोस्ियम लवण 

(2) कठोर जल में अघलुिशील 

पदार्थथ/टकम बिात ेहैं I  

 कठोर जल में अघलुिशील 

पदार्थथ/टकम िहीं बिाते I 

 

(ii) स्मसेल का स्िमाथण :   

साबिु का आयस्िक िाग जल से जबस्क काबथि श्ांखला तेल से पारटपररक स्िया करती ह ैI 

इस प्रकार साबिु के अण ुस्मसेली सरांचिा तैयार करते हैं I जहाां अण ुका एक स्सरा तेल कण 

की ओर तर्था आयस्िक स्सरा बाहर की और 

होता ह ैI  

 

 

 

 

½ 
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½ 
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 खंड –ड   

37 (a) अस्िसारी  

(b) f = 
1

P
 = 

1

−2.5
 = - 0.4 मि. or -40 सेंिी 

(c)  

 

 
 

अथिा 

(c) • उत्तल लेंस - आवस्िथत 

       अवतल लेंस - छोिा 

• उत्तल – स्बांब  O और F के बीच में होगा I 

  अवतल - वटत ुप्रकास्शक कें द्र और अिांत के मध्य कहीं िी होगा । 

1 

½ , ½  

 

 

 

2 

 

 

 

 

 

½  

½  

½  

 ½  
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38 (a) यस्द परुुष के शिुाण ुका X गणुसतू्र मादा अांडाण ुके X गणुसतू्र से सांलस्यत होता है 

तो लड़की का जदम होता ह।ै 

यस्द परुुष के शिुाण ुका Y गुणसतू्र मादा अांडाण ुके X गणुसतू्र से सांलस्यत होता है 

तो लड़के का जदम होता ह।ै  

 

/ िैकवल्पक उत्तर: 
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(b) क्योंस्क एक गणु सतू्र सामादय आकार का  ‘X’ होता ह ैतर्था दसूरा गणुसतू्र छोिा होता 

ह ै‘Y’.   1 

(c)  

•जिि कोस्शका/युग्नमकों के स्िमाथण के दौराि गणुसतू्रों की सांख्या घिकर आिी रह जाती है। 

• जब दो व्यस्ियों की दो जिि कोस्शकाएां स्मलकर एक िया व्यस्ि बिाती हैं, तो वे गणुसूत्रों  

    की मलू सांख्या को पिुटर्थाथस्पत कर दतेी हैं। 

अथिा 

(c) उदाहरण 1 : सरीसपृ – वह ऊष्मायि तापमाि स्जस पर अांड स्िषेस्चत होते हैं,यह 

स्ििाथररत करता ह ैस्क अांडों में स्वकस्सत होिे वाला सांतस्त िर होगी या मादा होगी। 

उदाहरण 2 : घोंघे – ये जीव अपिी जीवि अवस्ि के दौराि स्लांग पररवतथि कर सकते हैं I 
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½ , ½  

 

½ , ½  
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39 (a) (a)स्सिाबार, HgS (ससफाइड के रुप में) 

(b)स्जांक ऑक्साइड के स्िमाथण के स्लए (स्िटतापि) 

        िैकवल्पक उत्तर:   

ZnCO3(s) ⎯→⎯  ZnO + CO2     

(c)(I)ऎलसु्मस्ियम, र्थस्मथि अस्िस्िया 

(II)Fe2O3 + 2Al ⎯→⎯  2Fe + Al2O3 + ऊष्मा 1 

                                                    अथिा 

(c) काबथि की अपेिा सोस्डयम में ऑक्सीजि के प्रस्त अस्िक बांितुा होती ह ै

/सोस्डयम अत्यस्िक अस्िस्ियाशील होता ह ैI 

• कैर्थोड पर :- Na+ + e- ⎯→⎯  Na  

• एिोड पर:- 2Cl– ⎯→⎯  Cl2 + 2e- 

½ , ½ 
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½, ½  
 

1 

 

 

 

1 

 

 

½ 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

 



086_31/5/3_Science # Page-1 

 

Strictly Confidential: (For Internal and Restricted use only) 
Secondary School Examination, 2023 

Marking Scheme – Science  (For Visually Impaired Candidates Only) HINDI 
                               (SUBJECT CODE -086) (PAPER CODE –31/5/3) 
 
General Instructions: - 
 

1. You are aware that evaluation is the most important process in the actual and correct 
assessment of the candidates. A small mistake in evaluation may lead to serious problems 
which may affect the future of the candidates, education system and teaching profession. 
To avoid mistakes, it is requested that before starting evaluation, you must read and 
understand the spot evaluation guidelines carefully. 
 

2. “Evaluation policy is a confidential policy as it is related to the confidentiality of the 
examinations conducted, Evaluation done and several other aspects. Its’ leakage to 
public in any manner could lead to derailment of the examination system and affect 
the life and future of millions of candidates. Sharing this policy/document to anyone, 
publishing in any magazine and printing in News Paper/Website etc may invite action 
under various rules of the Board and IPC.” 

 
3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 
should be strictly adhered to and religiously followed. However, while evaluating, 
answers which are based on latest information or knowledge and/or are innovative, 
they may be assessed for their correctness otherwise and due marks be awarded to 
them. In class-X, while evaluating two competency-based questions, please try to 
understand given answer and even if reply is not from marking scheme but correct 
competency is enumerated by the candidate, due marks should be awarded.  

 
4. The Marking scheme carries only suggested value points for the answers. These are in 

the nature of Guidelines only and do not constitute the complete answer. The students 

can have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5. The Head-Examiner must go through the first five answer books evaluated by each 
evaluator on the first day, to ensure that evaluation has been carried out as per the 
instructions given in the Marking Scheme. If there is any variation, the same should be zero 
after delibration and discussion. The remaining answer books meant for evaluation shall be 
given only after ensuring that there is no significant variation in the marking of individual 
evaluators. 
 

6. Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 
evaluators are committing. 

 
7. If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly. 

 
8. If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 
 

9. If a student has attempted an extra question, answer of the question deserving more marks 
should be retained and the other answer scored out with a note “Extra Question”. 



086_31/5/3_Science # Page-2 

 

 
10. No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 
 

11. A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) 
has to be used. Please do not hesitate to award full marks if the answer deserves it. 
 

12. Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 
every day and evaluate 20 answer books per day in main subjects and 25 answer books 
per day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced 
syllabus and number of questions in question paper. 
 

13. Ensure that you do not make the following common types of errors committed by the 
Examiner in the past:- 

• Leaving answer or part thereof unassessed in an answer book. 

• Giving more marks for an answer than assigned to it. 

• Wrong totaling of marks awarded on a reply. 

• Wrong transfer of marks from the inside pages of the answer book to the title page. 

• Wrong question wise totaling on the title page. 

• Wrong totaling of marks of the two columns on the title page. 

• Wrong grand total. 

• Marks in words and figures not tallying / not same. 

• Wrong transfer of marks from the answer book to online award list. 

• Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect 
answer.) 

• Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  
 

14. While evaluating the answer books if the answer is found to be totally incorrect, it should be 
marked as cross (X) and awarded zero (0)Marks. 
  

15. Any unassessed portion, non-carrying over of marks to the title page, or totaling error 
detected by the candidate shall damage the prestige of all the personnel engaged in the 
evaluation work as also of the Board. Hence, in order to uphold the prestige of all 
concerned, it is again reiterated that the instructions be followed meticulously and 
judiciously. 
 

16. The Examiners should acquaint themselves with the guidelines given in the “Guidelines 
for spot Evaluation” before starting the actual evaluation. Examiners should acquaint 
themselves with the guidelines given in the Guidelines for spot Evaluation before starting 
the actual evaluation. 
 

17. Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 
the title page, correctly totaled and written in figures and words. 
 

18. The candidates are entitled to obtain photocopy of the Answer Book on request on payment 
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 
Examiners are once again reminded that they must ensure that evaluation is carried out 
strictly as per value points for each answer as given in the Marking Scheme. 
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अंकन योजना (कक्षा - X) 

माध्यममक मिद्यालय परीक्षा, 2023 

मिज्ञान (मिषय कोड -086) 

[प्रसन पत्र कोड :31/5/3 

अमिकतम अंक:80 
प्र.सं 

अपेमक्षत उत्तर / मूल्य अंक 
अंक कुल 

अंक 

 खंड- क   

1 (c) 1 1 

2 (a) 1 1 

3 (d) 1 1 

4 (a) 1 1 

5 (c) 1 1 

6 (a) 1 1 

7 (c) 1 1 

8 (b) 1 1 

9 (b) 1 1 

10 (d) 1 1 

11 (c) 1 1 

12 (c) 1 1 

13 (b) 1 1 

14 (b) 1 1 

15 (c) 1 1 

16 (d) 1 1 

17 (c) 1 1 

18 (a) 1 1 

19 (b) 1 1 

20 (d) 1 1 

 खंड-ख   
21 (a) मस्तिष्क एक हड्डियों के बॉक्स/तकल/के्रनियम में अवस्तिि होिा है I 

कशेरुकदंि या रीढ़ की हड्िी मेरुरज्जु की रक्षा करिी है। 
(b) (i) मेिुला : अिैस्छिक क्रक्रयाओं जैसे रक्िदाब / लार आिा/ उल्टी आिा , को 
नियंत्रिि करिा है। 
(ii) अिुमस्तिष्क : यह ऐस्छिक क्रक्रयाओं की पररशुद्धि ििा शरीर की संस्तिनि ििा 
संिुलि के ललए उत्तरदायी होिा है I 

(a)                                              (प्रत्येक का कोई एक कायय) 

½  
½  

 
½  

 
½  

 

 
 
 
 
 

2 
22 (a) (i) X = CaSO

4
 . 2H

2
O / जिप्सम / कैजससयम ससफेट डाइहाइडे्रट 

                 Y = CaSO
4
 .

2

1
H

2
O / प्लास्टर ऑफ पेररस / कैजससयम ससफेट हमेीहाइडे्रट 

 

½  

 

 

 

½ 
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(ii)  CaSO
4
 . 

2

1
H

2
O + 1

2

1
H

2
O ⎯→⎯ CaSO

4
 .2H

2
O 

                                       OR 

(b) (i) M, यह एक अम्लीय जिलयन है 

       (ii) उदासीन; 

            M एक अम्ल ह ैऔर N एक क्षार ह।ै/उदासीनीकरण अजिजिया 

 

 

1  

 

 

½,½ 

 ½ 

 

½ 

 

 

 

 

 

 

 

 

2 

23 (a) जड़ से पौिे के अन्य भागों में जल का वहि िहीं होगा,स्जससे पौिे मर सकिे हैं। 
(b) प्लेटलेट्स(पट्टीकाणु) रक्िस्राव/रक्ि के ररसाव के तिाि पर िक्का जमािे में मदद 
करिे हैं,स्जसकी वजह से पंपियंि प्रणाली की दक्षिा को कम करिे वाले दबाव में कमी 
आएगी । 

•  

1 
 
 

1 

 
 
 
 

2 

24 (i)  क्लोरोजफल द्वारा प्रकाश ऊिाा को अिशोजित करना I 

(ii) प्रकाश ऊिाा को रासायजनक ऊिाा में रूपाांतररत करना तथा िल अणुओ ां का हाइड्रोिन  

         तथा ऑक्सीिन में अपघटन I 

(iii) कार्ान डाईऑक्साइड का कार्ोहाइडे्रट में अपचयन I 

                                                   अथिा 

(b)  

(i) आजिक्य िल िाष्पोत्सिान द्वारा उत्सजिात होता है। 1 

(ii)  ऑक्सीिन  प्रकाश सांशे्लिण के अपजशष्ट के रुप में रांध्र द्वारा उत्सजिात होती ह।ै  

(iii) पजियों का झड़ना। 

                                                                                                       (कोई दो) 

½  

 

1 

 

½  

 

 

 

 

 

1,1 

 

 

 

 

 

 

 

 

 

 

 

 

2 

25  

जैव निम्निकरणीय अजवै निम्निकरणीय 

 वे पदािथ जो जैववक प्रक्रक्रयाओं द्वारा 
अपघटटि होिे हैं। 
 

 वे पदािथ जो जैववक प्रक्रक्रयाओं द्वारा 
अपघटटि िहीं हो सकिे हैं। 

सुरक्षक्षि निपटाि: 
(a) कम्पोस्तटंग 
(b) हरे रंग के डिब्बे में िालिा। 
                                                                                                            (या अन्य कोई ) 

 
 
 
 
 

1 
 
 

½ 
½ 

 
 
 
 
 
 
 
 
 

2 

26 (a) दीघा-दृजष्ट दोि / दरू दृजष्टता 

(b)  

• फोकस दरूी का अत्यजिक हो िाना I 

• नेत्र गोलक का छोटा हो िाना I  

• उिल लेंस / अजिसारी लेंस 

½  

 
 
 

½  
 

½  
 

½  

 

 

 

 

 

 

2 

 खंड- ग   
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27 (a)(i)2Al + 3H2SO4 ⎯→⎯  Al2(SO4)3 + 3H2  

(ii)2Al + 2NaOH ⎯→⎯ 2NaAlO2 + H2 

 

(अलभक्रक्रया संिुललि ि होिे पर भी अंक दीस्जए) 
 

(b) •िीला हरा 
• कॉपर क्लोराइि/कॉपर (II)क्लोराइि/ क्यूवप्रक क्लोराइि के बििे के कारण I        

  

1 
 

1 
 
 
 
 

½  
½  

 

 
 
 
 

 
 
 
 

3 

28 (a) अजिजियाएां जिनमें अजिकारकों के मध्य आयनों का आदान-प्रदान होता ह।ै 

 

(b) (i)  

HCl + NaOH ⎯→⎯  NaCl + H2O                     (या कोई अन्य अमिमिया) 

अम्ल क्षार से अजिजिया कर लिण और िल र्नाता ह।ै 

(ii) Na
2
SO

4
 + BaCl

2
⎯→⎯ BaSO

4
 + 2NaCl          (या कोई अन्य प्रमतमिया) 

अघलुनशील पदाथा अथिा अिके्षप (BaSO4) र्नाता ह।ै 

1 

 

 

½  

½  
 

½  

½  

 

 

 

 

 

 

 

3 

29 (a)h1 = 3 cm 
   f = -12 cm 
   u = -18 cm 
(i) प्रनित्रबम्ब की दरूी 

𝟏

𝐟
 = 𝟏

𝐯
 + 𝟏

𝐮
 

 
𝟏

−𝟏𝟐
 = 𝟏

𝐯
 + 𝟏

−𝟏𝟖
 

 
𝟏

−𝟏𝟐
 + 𝟏

𝟏𝟖
 = 𝟏

𝐯
 

 
𝟏

𝐯
 = −𝟑+𝟐

𝟑𝟔
 = −𝟏

𝟑𝟔
 

 
v = -36 cm 

(ii) प्रनित्रबम्ब की उंचाई 
m = 𝐡𝟐

𝐡𝟏
=

−𝐯

𝐮
 

 
𝐡𝟐

𝟑
=

− [−𝟑𝟔]

−𝟏𝟖
 

 
h2 = −𝟑𝟔

𝟏𝟖
 × 𝟑 

 
h2 = -6cm 
 
                 अथवा 

 
½  

 
 
 

½  
 
 
 
 
 
 
 

 
1 

 
½ 

 
 
 
 
 
 
 

½  
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(b) प्रकाश के अलभसरण या ववचलि की डिग्री / लेंस की फोकस दरूी (मीटर में) का 
व्युत्क्क्रम। 
यह अपसारी/अविल लेंस है 

 

P = 
1

𝑓(𝑚)
= 100

𝑓(𝑐𝑚)
 

P = 
cm10–

100
 = – 10 D 

 
आविथि का धचह्ि = + या ििात्क्मक 

1 
 

½  
 

½  
 

½ 
 
 

½ 
 

 
 
 
 
 
 
 
 
 

3 

30  

(a)  

• 1 ml मांड का घोल (1%) दो परखनजलयों ‘A’ तथा ‘B’ में लीजिए I 

•परखनली 'A' में 1 ml लार डाजलए तथा दोनों परखनजलयों को 20-30 जमनट तक शाांत  

छोड़ दीजिए। अर् दोनों परखनजलयों में कुछ र्ूांदें तन ुआयोडीन घोल की डाजलए। 

• परखनली ‘A’ में आयोडीन का रांग नहीं र्दलता ह ैक्योंजक लार में मौिदू एांिाइम द्वारा 

मांड़ को शका रा में र्दल जदया िाता ह।ै 

•परखनली ‘B’ में आयोडीन का रांग नीला-काला हो िाता ह ैक्योंजक इसमें केिल  का मांड़ 

का घोल होता ह।ै 

                           [नोट: यमद मात्रा का उल्लेख नहीं मकया गया है तो अंक न काटें] 

                                                                                 (या कोई अन्य गमतमिमि) 

 

(b) (1)  जपि िोिन के अम्लीय माध्यम को क्षारीय माध्यम में र्दल दतेा ह,ै 

            ताजक अग्न्याशय के एांिाइम उस पर काया कर सके I 

      (2) यह िसा का इमाससीकरण िी करता ह।ै / िसा की र्ड़ी गोजलकाओां को छोटी  

            गोजलकाओां में खांजडत कर दतेा ह।ै                                              (कोई एक) 

 

 

 

 

 

 

 

 

 

 

 

 

 

½ × 4 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

31 (a) (i)  

(1) र्ढ़ता ह ैI 

(2) र्ढ़ता है। 

(3) जिस्थापन की जदशा उत्िजमत हो िाती ह ैI 

 

(ii) • फ्लेजमांग का िामहस्त( र्ायााँ हाथ ) जनयम 

• इस जनयम के अनसुार अगर हम अपने र्ाएां हाथ की तिानी, मध्यमा तथा अांगठेू,को इस 

प्रकार फैलाएां जक ये तीनों एक दसूरे के परस्पर लांर्ित हों। यजद तिानी उांगली चुांर्कीय के्षत्र की 

जदशा और मध्यमा उांगली चालक में प्रिाजहत जिद्दयतु िारा की जदशा की ओर सांकेत करती 

ह,ैतो अांगठूा चालक की गजत की जदशा अथिा चालक पर आरोजपत र्ल की जदशा की ओर 

सांकेत करेगा । 

 
 

½  

½  

½  

 

 

½  

 

 

 

 

1 
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/     कथन का िैकमल्पक उत्तर 

 

 

 

अथवा 

(b)  

 

 

• पैटना 

• जिद्दयतु िारा की जदशा 

• चमु्र्कीय के्षत्र की जदशा 

 

(नोट: यमद पररिती प्रमतरोि और ऐमीटर नहीं दर्ााए गए हैं,तो िी 

अंक ना काटे ) 

 

•  दजक्षण-हस्त अांगषु्ठ जनयम  

• कसपना कीजिए जक आप अपने दाजहने हाथ में जिद्दयतु िारािाही चालक को इस प्रकार 

पकडे़ हुए हैं जक आपका अांगठूा जिद्दयतु िारा की जदशा की ओर  सांकेत करता ह,ै तो 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

½  

 

½ 

 

½  

 

 

 

 

    ½  

 

1 
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आपकी अांगजुलयााँ चालक के चारों ओर चुांर्कीय के्षत्र की के्षत्र रेखाओां की जदशा में जलपटी 

होंगी I 

       / कथन का िैकजसपक उिर 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

32 • उच्च उिाा िाली पैरार्ैंगनी जिजकरणें ऑक्सीिन (O2) अणओु ां को जिघजटत कर स्ितांत्र 

ऑक्सीिन (O) परमाण ुर्नाती हैं  

 

• ऑक्सीिन के ये स्ितांत्र परमाण ुऑक्सीिन अण ुके साथ सांयकु्त होकर ओिोन (O3) 

र्नाते हैं  

िैकमल्पक उत्तर 

 O2 ⎯⎯ →⎯
UV

 O + O  

            O + O2
⎯→⎯  O3  

ओजोन परत को हामन: 

•पैरार्ैंगनी जिजकरण पथृ्िी पर पहुाँच कर कई हाजनकारक प्रिाि उत्प्न करती हैं िैसे मानि में 

त्िचा का कैं सर. 

 

1 

 

 

 

1 

 

 

 

 

 

 

 

 

½ , ½  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

33 (a)  

 
 
(ii) 

 
• (धचि के ललए 1 ििा िामांकि के ललए ½ अंक दीस्जए) 

 
 
 
 

1½  
 
 
 
 
 
 

1½  
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

3 
 

लाल बैंगिी 
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 खड-ंघ   
34 (a) (i) ििृण उदर गहुा के र्ाहर ििृण कोि में जस्थत होते हैं क्योंजक शिुाण ुउत्पादन के जलए 

आिश्यक ताप शरीर के ताप से कम होता ह ैI 

 

• काया:- 

•शिुाण ु/ नर िनन कोजशका का जनमााण 

•टेस्टोस्टेरोन/नर िनन हॉमोन का उत्पादन  

(ii) (1) जनिेजचत अांड (यगु्नमनि) जििाजित होना आरांि कर भ्रणू र्नाता ह ैतथा गिााशय 

की परत में प्रत्यारोजपत हो िाता ह।ै 

(2) गिााशय की िीतरी परत िीरे-िीरे टूट कर योजन मागा से रुजिर एिां म्यकूस के रूप में 

जनष्काजसत होती ह ैI 

(iii) शिुिाजहकाओां का अिरूद्ध होना / परुुिों में िेसेक्टोमी I 

      अांडिाजहनी/फेलोजपयन नजलका का अिरूद्ध होना / मजहलाओां मे ट्यरेू्क्टॉमी। 

                                                          अथिा 

(b) (i)  

(1) पजियों की कोर पर कुछ कजलकाएाँ जिकजसत होकर नए पौिे में जिकजसत हो िाती हैं I-    

      काजयक प्रििान 

(2) प्लैनेररया का प्रत्येक िाग पणूा िीि में जिकजसत हो िाता ह ै–पनुरुद्भिन/ पनुिानन। 

(3) उपयकु्त नम सतह के सांपका  में आने पर र्ीिाण ुिजृद्ध करने लगते हैं - र्ीिाण ुसमासांघ। 

(ii) 

• यगु्नमनि र्ीिाांड के िीतर एक भ्रणू र्नने के जलए कई र्ार जििाजित होता ह।ै 

• र्ीिाांड से एक कठोर आिरण जिकजसत होता ह ैिो र्ीि में पररिजतात हो िाता ह।ै 

• अांडाशय तीव्रता से िजृद्ध करता ह ैऔर पररपक्ि होकर फल र्नाता ह।ै 

• पांखजुड़यााँ,र्ाह्यदल,पुांकेसर,िजताका एिां िजताकाग्र प्रायः मरुझाकर जगर िाते हैं। 
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35 (a) • क्रकसी ववद्युि पररपि में वह दर स्जस पर  ववद्दयुि ऊजाथ क्षनयि हो जािी 
है/उपमुक्ि  होिी है। 
• वाट या W 

•1 यूनिट (1 kWh) = 3·6 × 106जूल (J)  

(b) E= P × T 

प्रत्क्येक 50 W के 2 बल्बों द्वारा उपमुक्ि ववद्युि ऊजाथ की , E1 ,  

E1 = 50 × 2 × 6 = 600 Wh 

1 KW के ववद्युि गीजर द्वारा उपमुक्ि ववद्युि ऊजाथ की , E2,  

E2 = 1000 × 1 = 1000 Wh 

30 टदिों के महीिे में उपमुक्ि ऊजाथ 
[E1 + E2] ×[E1 + E2] × 30 = [600 + 1000] × 30 Wh  

                          = 1600 × 30 = 48000 Wh 
                          = 48 kWh 
इि ववद्युि उपकरणों का उपयोग करिे की लागि ₹8•00 प्रनि क्रकलोवाट घंटा की दर से  
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₹ 48 × 8 = ₹ 384 है I 
 

1 5 

36 (a) काबथि की अपिी सबस ेबाहरी कक्षा में 4 इलेक्रॉि होिे हैं, और उत्क्कृष्ट गैस 
ववन्यास प्राप्ि करिे के ललए 4 इलेक्रॉिों को प्राप्ि करिे या खोिे की आवश्यकिा होिी 
है। 
 

अत्क्यधिक ऊजाथ के कारण 4 इलेक्रॉिों को खोिा या प्राप्ि करिा संभव िहीं है, इसललए 
यह सहसंयोजी आबंिि बिािे के ललए इलेक्रॉिों को साझा करिा है। 1 
 

 
दो कारण : 
(i) श्ृंखलि : काबथि के अन्य परमाणुओं के साि आबंि बिािे की काबथि की अद्वविीय 
क्षमिा, स्जससे ववलभन्ि प्रकार के यौधगकों की लंबी शं्खला बििी है। 
 

(ii) चिु: संयोजकिा : चंूक्रक काबथि की संयोजकिा 4 है, इसललए यह  
काबथि के चार अन्य परमाणुओं के साि या ऑक्सीजि, हाइड्रोजि, िाइरोजि, सल्फर, 
क्लोरीि आटद ित्क्वों के परमाणुओं के साि आबंि बिािे के ललये सक्षम है ।  
 

काबथि द्वारा प्रबल आबंिों के निमाथण का कारण इसका िोटा आकार है जो िालभक को 
इलेक्रॉिों के सहयोगी युग्मों को प्रबलिा से बांिें रखिे में सक्षम बिािा है। 
 

अिवा 
(b)(i) •एल्कीि ,   CnH2n/एल्काइि,  CnH2n – 2 

  •Ni  या पलडेियम जैसे उत्क्प्ररेकों की उपस्तिनि 

  
Ethene

H  CH  CH 222 += ⎯⎯⎯⎯ →⎯
Pdor  Ni

Ethane

CH – CH 33   

   

संयोजि अलभक्रक्रया में असंिपृ्ि हाइड्रोकाबथि संिपृ्ि हाइड्रोकाबथि में पररवनिथि होिी है 
जबक्रक प्रनितिापि अलभक्रक्रया में एक परमाणु या परमाणुओं का एक समूह क्रकसी संिपृ्ि 
हाइड्रोकाबथि में हाइड्रोजि को प्रनितिावपि करिा है। 

 

 

 (ii) 
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5 

 खंड-ड   
37 (a) यजद परुुि के शिुाण ुका X गणुसतू्र मादा अांडाण ुके X गणुसतू्र से सांलजयत होता है 

तो लड़की का ि्म होता ह।ै 

यजद परुुि के शिुाण ुका Y गुणसतू्र मादा अांडाण ुके X गणुसतू्र से सांलजयत होता है 

तो लड़के का ि्म होता ह।ै  
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/ िैकमल्पक उत्तर: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(b) क्योंजक एक गणु सतू्र सामा्य आकार का  ‘X’ होता ह ैतथा दसूरा गणुसतू्र छोटा होता ह ै

‘Y’.    

(c)  

•िनन कोजशका/युग्नमकों के जनमााण के दौरान गणुसतू्रों की सांख्या घटकर आिी रह िाती है। 

• िर् दो व्यजष्टयों की दो िनन कोजशकाएां जमलकर एक नया व्यजष्ट र्नाती हैं, तो िे गणुसूत्रों  

    की मलू सांख्या को पनुस्थााजपत कर दतेी हैं। 

 

अथिा 

(c) उदाहरण 1 : सरीसपृ – िह ऊष्मायन तापमान जिस पर अांड जनिेजचत होते हैं,यह 

जनिााररत करता ह ैजक अांडों में जिकजसत होने िाला सांतजत नर होगी या मादा होगी। 

उदाहरण 2 : घोंघे – ये िीि अपनी िीिन अिजि के दौरान जलांग पररितान कर सकते हैं I 
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38 (a) अजिसारी  

(b) f = 
1

P
 = 

1

−2.5
 = - 0.4 मि. or -40 सेंिी 
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(c)  

 

 
 

अथिा 

(c) • उिल लेंस - आिजिात 

       अितल लेंस - छोटा 

• उिल – जर्ांर्  O और F के र्ीच में होगा I 

  अितल - िस्त ुप्रकाजशक कें द्र और अनांत के मध्य कहीं िी होगा । 
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39 (a) (a)जसनार्ार, HgS (ससफाइड के रुप में) 

(b)जिांक ऑक्साइड के जनमााण के जलए (जनस्तापन) 

        िैकमल्पक उत्तर:   

 

ZnCO3(s) ⎯→⎯  ZnO + CO2     

 

(c)(I)ऎलजुमजनयम, थजमाट अजिजिया 

(II)Fe2O3 + 2Al ⎯→⎯  2Fe + Al2O3 + ऊष्मा  

                                                    अथिा 

(c) कार्ान की अपेक्षा सोजडयम में ऑक्सीिन के प्रजत अजिक र्ांितुा होती ह ै

/सोजडयम अत्यजिक अजिजियाशील होता ह ैI 

• कैथोड पर :- Na+ + e- ⎯→⎯  Na  

• एनोड पर:- 2Cl– ⎯→⎯  Cl2 + 2e- 
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